1.

3.

Which of the following statements are correct ”

A. Ramananda belonged to Vaishnava Bhakti tradition

B. Ramananda preached in the langnage of the common people
C. Vallabhacharya was the founder of Pushtimarga

D. Jayadeva's Gita Govinda wae composed fn Hindi

Choose the correct answer

(D A, B, Cand D (2) AandBonly 't (3) A Band( # A.CandD
(808 e3¢5 DO ar swsen D 7

A O&TSOH% DS 298 S8y SoOS I

B. TR0 Ry (Hae arnest SH03ED

C. DT ROI YJRITED 0T

D. 2003 “Hes oS % trod arnes D03

QB AATEN0 DOTOT M

(W A, B, C 8w D (2) A SO0 B €8s (3) A, BwbHaiw C

(4) A, C.060w D
. . t
Consider the following statements about coinage during Akbar’s reign
A. Coins were minted in three metals, rlamély gold, silver and copper

B. There was free and open minting system/@nd mints were widely distributed

Which of the above statements is/are correc't;?’:f

(1) Both A and B (2) Aonly '~ (3) Bonly
©%)5 o ST THOKH H00H0D & (808 &5 HOFD0LY

A B 20mE, 308, TR ©F S SO SHE0RF .

B. RS9 SO 2arSofom SEe SVAO0T IS HOTBH. L03FT O IO yoBaw

DS BSLES TS DA/ SBIB/D ?
(1) ADOADBBOGr  (2) ASTSD (3) B Srebad

(4) Neither A nor B

4) A O B BO& Sy

Which of the following statements are correct ?
A. The Firdausi order was a branch of the Suhrawardi.
B. The Shattari order was an orthodox order;

C. The Qureshi order of Sufism flourished in the Deccan.
D. Chishti Sufis belonged to three different:iranches of the Chishti order — Nagauriya, Sabiriya and

Nizamiya. 1t
1EY

Choose the correct answer : :
(1) A,Band D (2) A BandC ' (3 B,CandD
& (808 T5DIOS” DD HOTI ?
A DETD 3G IS’ 2.8 grifo.
B. A28 SPan 28 reded 9G0.
C. 050306 g8 S5GS0 383’ 3§Dod.
D. 2 drben D2 680880 H0DOBODS K DS FIFBS - TTOAD, HDIAW DB AR
50 TOASTK.
DB DSPEFS0 DOTHE IS :
(1) A, B80S0 D 2) ABSOBAMC  (3) B,C 08D @ AC HdAw D
gé%
B&E

4) A,CandD

(2)
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Arrange the

follow .
kin do . ng ‘l)l‘(: o .
A 5\1:(;:‘1{ s travellers n chronological order of their vigit to Vuayanagara
: r Razzac
D I“(\rnl . ‘ ‘; A
: A fe i
Ch 0 Nuniz BN Mmasy Nikitin ' Domingo Paes
(i)()()so the correct answ; Nicolo Cont;
E,A, B, C, D S
T 2y
DECHSHS 02060 Hosn e AP C @y AFRD.C 4 A.C,E.B,D
A. @2%\6 Sork D00 &a IBOA 744 ' < o aatn S 893335 YC A
3" SO DHT3LH (w506 rD) TN B Tade) YO a0 O
= ,1 B0 B o g o 2T @3N Yes i
? oé«)‘s& INLINE E ");(\:A\' PO PO ( ",::;,/;Ff PRI
RV AATTO DO ks - NS e’
(1) E,A. B.C I INNV
“w A, B, C,. D
(2} E, ]3‘ A. ])‘('_ (3) A F R ]’).(' (4) L\(F.Pl D

Which of th
e followi )
mng Statemf‘/nm ah()ut Frﬂnch ﬁa‘“' India Company jg/are correct ?

A. French E
ast Indji , '
dia Company s headquarters were ghifted to Pondicherry from Surat.

B. It had

. a central board £ d '
C. One ofi of directors which wag as ‘Gentlemen Seventeen..

of ita notable features was khown : ts officers which affected 1ts

operations in India.
Choose the correct answer -
(1) A and C only .
(3) B and C only (i) i()glznd ©
L@Oté S0 ) ROBAD F0DE H0220H0D Bod Lfi)é)éaéé”s& DO/ LRI !
A (HOS $08) R0BOT L0 557 Foio HroS dod TOBT 08 78.2A05
B. 08 'Z08ODS VISES & 2.8 B0l HckH ' e BSE00 roddo.
C. 5D HAOIENS OEFTOS .88, RO wOFE SE FFTL
2rESTI0S” 0 SEgEeTIeD Ta)BS) D o
QB DGO DOTNT R : |

was constant quarrels and rivalry among1

N rren (OB G000

(1) A $60% C SHSD B A SIS
(3) B 0B C Sr(ehad (&%) A, B 805 C
Match the following : s
List I List I1 o
A. Amatya I. Finance Minister ™
B. Wagianavis II.  Officer recording proceedings of the court
C. Sachiv III. In-charge of the Royal Secretariat
D. Sumant IV. Foreign Minister

Choose the correct answer :
(1) A-III; B-IL; C-T; D-1IV
(3) A-I; B-II; C-1II; D-IV

2) Al BI, C-IV; D-111
(# AIV; B-IIL; CIL; DA
Lo

18o& ¢3Q 235DGTO X
zrde 1 e 11 A

A eXreds I 0% oo o

B. JEORRIR II. e-s@"éoess 208 SESFITOLD 85 T QSO
C. A [IL OSSO §O0D &)O‘jg‘mc&

D. o V. 870l ol ’

3B STETO0 DOTHTW : N

(2) A-IL; B-I; C-IV; D-III

(1) A-III; B-IL C-L; D-IV

¢3) A-I, B-II; C-II; D-IV (4) A-1V; B-IIL; C-II; D-I

(3)




Q})'ﬂ wac h 2 f stir jon i S IIICOrrect ?
ra ini t, ﬂtl() .
i a ,hn ('ldn)lnl.
‘ ‘ i 3 out ‘A. ’ ] ] an 1n M ‘
i th( f()”()“]n“ Htﬂt t‘ ”' reﬁp()nsll)le to t]

. al administration. irect]
(1) ‘Peshwa’ looked after finances and V“""r’”,'|(.’,'~1,”.' each minister was directly
(2) ‘Ashtapradhan’ had no collective responsibility,

ruler. . and household affairs.
(3) ‘Dabir’ was responsible for intelligence. ¢

(4) ‘Majumdar’ was the accountant. 8y 50208050 & (805 T 4DS
&Eey v SERSIV IS eTAlelAlN A
INVAIQ IS IV PO TRSTA ) j

ROTO SOJOT deres aA$rerad) HSsa3 8 i,
. 5 DAAETED HB538 ot
(1) Dars @ Daasre N, G DOTEO® Do

| ' Jeorr 2
ks 20D Trard
(2) '@OQUITN &y B0 27 ceb OO 5. (€ 2,8), SH0(

Aot 3,23 §CR.
3) DS e D5S5P, DO By OTOF, $
@ 2o escra DSAD HEaFOcd. !

0yt HBIE D0 ?

e

reh5es NOR HOBsreyy

| . it’ in his court,
Consider the following statements : Sahskrit scholar ‘Wam;‘;: iandl

2. Ali Adil Shah appointed the well-known Sa him Adil Shah.

B. Gol Gumbay, buI;Il)t in 1660, was a ma“*“’""}}‘éhf“ﬁii?ffiiﬁuras’-

C. Mohammag Adil Shah composed a bO‘Ok c;lt Guru’.

D. Ibrahim Adil Shah-II was also called ‘Jag

; 7
Which of the above statements are incorrect (2) A andD only
(1) B, C and D only (4) B and C only
(3) A,Band C only
808 53505 569005 TS H0BEH S5 8FS0S” DD,y
A O ©8S 3 DY K008 SoAEE TS H0

. s OIS,
B. 1660 &° 960528 K4S Fowes, gasro o0 ar SD;ZE;)\)&
C. 8885-3-36% o fomd) T8 98S LBAOT .

D. Bods 2aro 0B8S T a6 o Srae 3>w35335‘®
D TSt D9 SOOI 5°6) ? » =
(L B, C 6% D S5 @ A awog CD§JJ:§3)
(3) A, BB C S TmE 0 L
Match the following works with their respectivg;writers or compilers :
Work Writer  *!
A.  Padshah Nama I MuhammadKazim
B.  Humayun Nama II.  Abul Faz]
C. Alamgir Nama II1 Humayun
D. Akbar Namga IV. Abdul Hamid Lahorj
V. Gulbadan Begum
Choose the correct answer :
(1) A-IL; B-V: C-III; D-1v (2) AL, B-III; C.v- D-IV
(3) A-IV; B-V; C-I D-I1 (4) A-lV; B-I1T1; C-I; D-11
508 (fogsaweress aressy (PRSTE BHSest BSIE B
(ogsX» (TS !
T T L S0’ grass, %

BODAG %y L 5080505 I,
V. bheysSmn,

A
B. Sveasns EUAY I @ Hus T
C

D
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10. ﬁrrilxllge the following eve
B: Dl(:*l;;lttlf)\itttlﬁg II))lﬂn announce(d .
C. Radcliffe Line dt:.'};‘:bse""(‘d by the Musl;
awn to demarcate lntlis‘\'::r:(l;‘;;’i‘ll:i:ﬂn n

D. Indian Ind

y ependence Ae

Choose the correct ¢ e Act passed b - .

rrect answer : v the Britigh Parliament.

nts rel
* ate L. .
d to the p jon of India in chronological order :

artit

(1) B,A,C,D ;
273 D23BIR HODOBO %i: 2D A 3) ABCD g BBt
O e 2 R0R0LODR 800 ozne SO e
B. Swa O (DETDE (D8 DS Ser &S0 8950600
P wér,\éoé)ﬁ;')%)égg B85 BSO’ éveaom)@
. T8, o e
D. (D& @Q&oi?ai?é?%a%és THID B pUrdd BONGO-
B BRSO doHSntm RO S BODOE.
(®» B,A C,D .
‘ 5 (2) 3 ' ‘
11. Conzlder the following stateml:;lsva’ D A @ ABSD v
A. At Dhulikatta, a fortified town .was excav;ted
ri.

B. It was si . "
situated amidst fertile red soil on the banks of river Godava

C. At the centre of .
afariarice. of the Dhulikatta fort were found a palace comp

D. Most of these struct
. ures were built with
Which of the above statements are correct ? stone-

lex, residential quarters and

(1) B and C only

(2) AandBonly
(3) A and C only (4) A,BandD
1808 55O HOBOOLHAW :

A STOEE) SO 28 DOV T (85 5570’ 2aghhed HEOO.
B @8 Forsd &6 2,60 18O FEI0SDING Soo HES HOO.
C. ST 86 HGS’ 28 TR, P& esarRren, FRTSTOEd EQFTSDFOW.
D. @86 @38 FSTen TS EQRF . P
2 50 DD DOTID ?
(1) B 0050 C Sr(ehad
3 A 08050 C S5
12. Which among the following modern places wa
Chalukyan inscriptions ?
(1) Penjerla (2) Patancheru (3) Patighanpur (4) Punjagutta
5208 TOF5e e GrB0NDAS 'FHOT SO0 HRS0 & 80d T3S O ?
(1) 2023 @) DHTIBE 3) FB2SYD 4) Do
13. Which of the following were objectives of the All India Kisan Sabha formed in 1936 ?

A. To fight for the rights of peasants and afgri‘bultural workers
tions in factories

B. To demand better working condi
C. To advocate for ]land reforms and redistribution of land

D. To support the Indi le for Independence

(1@ A3000 B INSD
f4(@ AB»HBADD

s exemplified as Western

‘Pottalikanagara’ in the

an National Congress-in its strugg

Choose the correct answer . <
(1) B,Cand D (2) A,BandD ™ (8) A,BandC (4) A,CandD
1936 & FRoSDES @D TS 821 25 TBNFY DD aBaen (808 T3S D ?

&850 oo

A, Deébven, et 87O 8RO |
B. Sorored WS HBHOIBAO |

C. 25 HODBEILD, EFAFOD s HoDEBS BOHEAL HQOTI
D. 250l eeisos arod 2805 STOITRNEY DRSO

0B HAPTI0 JOTHERD

(1) B, C 805» D @ ABXBOHD @) A B 0080w € 4), A,C 03D

(5)




Kavyalankara Chintamani

i Id(\nf.”:\' the \Vl'"““ pil]’r :
1 (1) Peddana Rukmangada Charitramu
(2) Mallana a Padmapuranam 19.
(3 Madikisingans o dodarpanam
4) Ananta
2850 23650 HOOTHA
1) DRSS Mok yel DOEBDES
(2) VS L DSR0NES L3833
(3) HASVONS - D) TEO
(4) @J0e — B08BE )0 _
‘onsider llowing statements : H ) .
15. gon‘;’;ﬁE‘l ‘tthe’fo lowing tio Persian court letters written to the Nizam 1n reply EZ the farm,,
: aritas’ were poeti record of the Hyderabad Court written in clasgj,, "
T3ia

B. The ‘Siyahaya’ is the official daily
language.
Which of the a
(1) Both A and B
(808 (DB BSOD HOFOOTVSW :
A DOTD O POROOR B

Sew.
B. 'DONIFAD @00 FAgAMCANAVIIL

DIFTTESD. P N
238 8 5AS TOS DO 2,090 ?
D N B Oodr (@) Asmgd (K BINSD (4) A O BBodr sy
e tombs of two holy men, one a Hindu ang aNother

16. In which place during the time of Qutbshahis wer

a Muslim, both attracting a large number of people, noticed ? .
(1) Pileru (2) Kautalam (3)" Rayachoti (4) Gutti

S5 Fbre Foos D [Frosos P SopsS’ ‘L;me)éo @500T R DA S5VEN WO 1

. /are correct ? * .
bove statements 18, (3) Bonly (4) Neither g Nor

(2) Aonly
o Q2P0 DEDH HYABS o He3Erdos (T 02AE ay

oo TR FOR IS (TRDAS wawes ag,

21O, ROEES SN0 IS HBOWVDEJID ? .~
1) DB 2) S$e0 (3), T°OE @ 08
17. Mulla Wajahi wrote the story of Bhagmati and Mohammad Quli Qutb Shah in a poetic form Wy
was this poem called ? .
(1) Qutub Mushteri (2) Thandkala (3) Basant (4) Kulliyat
(e DHOAN a0sTE 5O FoehrdS R M9 DESETHOS” SN X232 SDOTI
& DT D08 ? ) ’
(1) 8oedd SR v
R @ &okio 8) 23508 @ SOSrS

18.  Identify the correct pairs :

A. Kusumayudha I - Ranamardanavayq-kulatilaka

(l}?. I{I{usu@a(?itya —  Muttanegalla
D: 2 ;Sgslt;;aja - Vivekanarayana
yudhaV -  Marbalakesari
(%NXS% t:edcocrrect answe(r : ("
, Ban 2) A 3
OOTS 235D HBOTHAW :  Aand® oy o C 8 Sl DERCS
A, oIS - SRaDFNSADH@B &
B. $0c0:5°Qebs - WeTre
C. difedores ~  DJsroravey
D. o03rowdV - rd)oFus
BTSRRI ALNORVOINVYN N WE

(3 ADOAWB  (3) ASBAwC ”

(1) A, Bob8akw C

A, B, C S80m D

o



19.

20.

21.

RN

Consider the following stateme

A. In the mid 18th nts
Adilabad.

B. He ruled the

C. They were tr

“"‘"“"‘y the ¢
t the British 1n

rond tribalg led by R:Hn]i (rond revolted agains

eated har;)}:\dznt]y With Nirmal as the capital.
11y by the British and 1,000 of them along with Ramji Gond were hanged

tree ne .

> ar Nlrma] Thi

D. Kumaram Bh - LIS tree came to be known as Veyyi Urula Marri’
€em gave the slogan ‘ o

Which of the above statements are ¢
(1) B,Cand D (2) Aand 1;
808 DBJTSSO0 HOKBotIn .
A. 183 d®R0 edertoss oo
. oxdfock: rarty @osod B S
S3BZOT SSorheren T, T8 o Kotk BfiTdy sherarty oS0 B
B. &0 & (o) ASS ooErdmr dsS0(omr rOoT .
C. TOE DB Ter EBI0T Sg5000 woffotd ren Jowg 06D B6S KOS %
SBTEPE SO . O AW & SB'T Hensd DA
D. §5060 DD BS-208S-2NDS ©5 k0 B Y.
2O BIDAS T 5WIOS” IV 2.:9) ? L
(1) B,C HBA®D @ ASOGWE (3 ABHOCHC (4) A C0CD

Arrange the following events in chronological order : -, :
The Nizam’s forces in Warangal surrendered to Ma,ior General Rudra.

3
Ja]"']llngle--_lameen'.
rect ?

(3) A,‘B and C (4) A,CandD

P
-1

A

B. Surrender of Major General E.L. Edroos, the chief.of Nizam’s Army.

C. Resignation of the Ministry of Mir Laik Ali. =

D. Indian army occupied Sholapur, Naldurg and Thiljapur under the leadership of Major General
J.N. Choudhary.

E. Withdrawal of the complaint against India from the United Nations Security Council by the
Nizam.

Choose the correct answer :

(1) D,A,C,B,E 2 B,C,AED (3) B,C,D,AE @ C,D,B,E A

1808 DONEIOD 5T S0P @8 ) :
$506S S° Do DIsED Db IS ST SORSF ST,

A.

B. Q230 DssGoced 202d 2556 7S, AT SORFIR0.

C. 5B 005§ 8O Ho@IF0 TET T ZTahco. e

D Hzb a38S B.IS. B0 ToHIS 08 &rES DI ey, S GY, STyl O BENOTD.
E Qar0, 2roSTTIE SsBB30m 0¥sores BOT AR YN DTN EHHOTONEIT) .
DB DTGP0 OTHE W ! H

(1) D,A,C,B,E @ BCAED @ BCDAE 4) C,D,BEA

Suravaram Pratapa Reddy in 1941.
(2) Vignana Mandali
(4) Vignana Vardhini Parishad

Identify the literary organisation started by
(1) Vignana Chandrika Parishad

(3) Vignana Sarvaswam
500D Fer& HOP HB00G ?

1941 &S HEIB0 (HDFD BS |
(1) DS HoO8 HONS Q)¢ DTS HoBO
(3) TS IB5050 @) S Y HBAS
O



22,

23.

24,

L]

Gabha with the Proaident of the seasion -

’\'151“"1 the follow mg eeccions of Andhra Maha
Pregident

.S:"-Qﬁmn Konda Venkata Ranga Reddy
A F ("\nrth Andhra Maha Sabha Mandumula Narsinga Rao
B Fifth Andhra Maha Sabha ‘
€. Sixth Andhra Maha Sabha
D Eighth Andhra Maha Sabha

11
111
v.

Ravi Narayan Reddy
quravaram Pratapa Reddy
Madapati Hanumantha Rao

Choose the correct answer -
(1) A-IL; ' 2 AIV; BIL G-I DV
IT; B-111: C-V; D1v

(3) A-III; B-v. C-IV: D1
(808 esoes QIR DT Saeen, eS8 95BN 23650051

4) A-V; B, C-IL D-II1

ValrIFo e shen
A TS @0(E Q02 I Som S05& éogﬁ“ :@
B. 0o eso|e sosenzs I 00 G0N T°s)
C. &3S eoe Sudes L o9 vwo?m?@
D, 058 0 o302 IV. 08880 (e BG
V. Sredred Sedaod 0%
OB AITFEPI0 DOLHER :
() AL BJIIL; C-V; D-IV = ) A-IV; B-IIL C-I; D-V
by (4) A-V; B-I, C-II; D-III

(3) AL B-V; C-IV; DI

Consider the following statements : :
A. Nadimpalli Sundaramma started Andhra Sodari Samajam.

B. Bharata Mahila Samajam was started by Yamini Purna Tilakam.
Which of the above statements is/are cdﬁrect ?

(1) Both A and B “d (2) Aonly

(3) B only (4) Neither A nor B

(808 (83308 8BBS00 -

A 80 6 I8rard), $BoHE) 0&E8, (@rSodotr.

13. S DTY ASrd) AT FIBOL0 (FE0DoTE.

D QSRS g0 A/ 2,5 ?

(1 A H80% B Bodsy (1 2) ASrFSDH

3 : oy
(3) BameH T @ AS80% B Bodr 5

(=)

In th i o
e second session of the Andhra Mahasabha, who among the following leaders introduced the

resolution demanding the aboljt; 5t 1
Castes ? 8 the abolition of Yptouchability and provision of equal rights to the Schedulet

o ﬁﬂf;ﬁ%“ii?y”i,‘ﬁin i (2 BS.Venkat Rao
(4) Raja Bahadur Venkata Ram Reddy

BOéé @OLCs m;}sx)es . <
INNURE] 32§ -
TN S35 DB08 a3k, ?oeS“ O35S QB Wedsen Sere 08 DS Srdope Sher

(1) ©OR ooy
S
BY arig B 36 @) DI Jose o)

@) o8 23856 I08e ooy 8&

@4E
2



B e

95. Who among the follow;
. . Mg built the 11
(;; Zor;pl Durgaiah ! the Ujjain Mahankali Temple in Yecunderabad ?
( e Rajaiah "
(9) Kase Anjaiah
(4y Suriti Appaiah
1808 Flelo) N8OSt @
(1) T8 P PO BID Soirosd Bareasird,, 010008300 ?
(3) 88 TR @ s e0B0S
(4 083 @;)o)d&)’g
26. Hyderabad State Congress o |
Identify the in-charge leaderg

ganised many Borderseamps as a part of ‘Join India Movement’.

of the Border Camps and match them :

Border Camps In-ch
-cha
A. ghﬁ:lda }?amp L. Kv ;,(:egs(ilav 1
B. Balharsha II. K ati o
al . odati Nara ‘
C. }s;nvzlmcha III. KV. Narsing: rIl{iuI){ "
D. Repala IV.  Sriramulu

V. Jamala
pura
Choose the correct answer : m Keshava Rao

(3) A-IL; B-IIL; C-IV; D-I @ ATV: BV; CII DI
2768 S DO jiségéao'és% Q0DOHOD) PST2rEy ?9@5 o0 O DBy FDT DB roDO’.
808 B 58S JBICY FDTD, D DS 210D FoHZHeS HBOD A TS 2SHETHIW :

2Doeen aravshen
A Soo 3DBo I 5. 859en 8
B. 2groar 1§ oahem ou
C. 1850 1. 3.2. S8J0M Ty
D. Bre IV. 30°506
V. 207080 355 07
$B& HIPGP0 JOTHER :

(2) A-JI; BI; C-III; D-V

(1) A-IIL; B-I; C-IV; D-II
@ A-V; B-V; CIL D-I

(3) A-II; B-IIL; C-IV; D-1

27.  Nizam-ul-Mulk Asafjah was in-charge of viceroyalty eonsisting of six subas of the Mughal Deccan.

Identify them.
(1) Raichur, Bidar, Aurangabad, Osmanabad, Berar and Hyderabad-Golkonda

(2) Berar, Aurangabad, Gulburga, Bidar, Bijapur andigyderabad-(}olkonda

(3) Khandesh, Aurangabad, Berar, Bidar, Bijapur and Hyderabad-Golkonda

(4) Gulburga, Berar, Bijapur, Ahmadnagar, Khandesh and Hyderabad-Golkonda
Swiene sdsosS B 58S La’J"oéoe:S6 7 @8 rOR VEP0-GS -G ) BIDL® BIPOW™ &), 3

K80,
(1) oo, DS, Torerd, e Bow0 oA 23S0erS-FeS 00

@) BB, Toomers, KT, HSE. 6 HBAW 2T eSS 0c
3) sroBD, Toorers, $075, HAG, $yB SHOA T ers-HeSHy 0%
4y )T, Bo°b, DesayD, eou3CseSB, AroBa: HOAD oS-SS 08

Q (9) !él]%




28.

29.

30.

31.

Mahayana Buddhist establishment ?

Which of the following sites belonged (0 (2) Dhulikatta
(1) Pashigaon (4) Kondapur
(3) Nelakondapalli - — s 5% 550 598 7
MEE 9y SR

& (808 Hereres’ ool
1) Forzayb

(1) Ao
(3) SoFoddd , "
about Wishrmkundlns are correct

griparvataswamy. _
f Vedic religion, they persecuted followers of Buddhigp, o

Which of the following statements
and made significant contribution towards growty

A. Vishnukundins' family deity was
B. Since they were staunch followers

Jainism. - ols)
C. They established Ghatikas (Vedic Sehy

. literacy. i :

D. Kesari (Lion) was the emblem of Vlsh{;ukundms.
Choose the correct answer : (J

(1) A,Cand D 2) A, Band :
DPHOBROH H0OB0DS &8 (508 5
A. DDEO0BE Koo TS0 IS 585 5 )
B. SO% &) Mo €9, 0B 5% 251@ 5805 B 3050 76 3&?:9)@@ BOTFE.
> ‘ & g o5 F§RE KD ONTS DTG0 OLOTTY),

C. a8 30638 (BEE BT o) O F0
D. 338 (D0SF0) DF0AHO DF)0-

AB S DIPTTI0 DOTHEIW

(1), A, C 980w D @ ABSBPL & BC B0k B 4 B0y

!
Which of the following statements is/araﬁtéel'l'eCt ?
A. Arikesari II erected a triumph pillaréat Kalapriyam.

" (3 B,CandD (4) A, BandD

£oé‘ DD HOTSD ?

B. Adityalaya was built at Vemulavad :ﬁ:

Choose the correct answer : e
(1) Both Aand B I (2) Aonly
(3) Bonly aj (4) Neither A nor B

(808 (HBFBIOS” IB/DD O ?
A SODO0HO0 S BokS @888 30D POaTA) DOV .

B. Jswearss edersooird) A80wrd.

OB DTG0 DO
(1) A 80k B Bockr 2) A Sy
(3) B S5, (4) A B0 B BOGT 5%)

Which of the following statements is n%fporrect with regard to the organization of the army of the
?

Velamas of Rachakonda and Devarako a7

(1) Kaijjitagandru - Refers to soldierﬁﬁho use catapults (pashana yantras)
(2) Selagola —  Refers to the amiéﬁ'using javelin or spear

(3) Vilukandru -  Refers to archers®%hd bowmen

(4) Ekkati _ I .
kkati Refers to soldlersr ’andhng heavy weapons like maces )
R D0PF 02080 (808 55’ B HOPIO SO’

T80 sHB0%N BSEE0d SercoTrase
83 %iiszow - zjm (RS QSooL@?"gj &GITTAOT PRZOD TR0
ooy | :)3;1; Zcr 2SI GHTBFAOD D) SN0
) 68 i (00, DVOD &HTrAOTFE PO
AGeD S0E3 2HFS BOEFeD SITrAO VAZOE DR

[a]
(10)



32.

33.

34.

35.

The Famine Enquj
duiry associated with which

. : C - .
pohIcy shift ? ommission of 188() Jed by Sir Richard Strachey 18
(1) Introduction of g yp; :

(2) Increased gOVern:::\:te rsal Public Distribytion System
(3) Emphasis on free ma responsibility for food relief
velopment, in famine prone areas

i 3L M &8 v YO 43
AEIONS 8Ly )T O ET0D 5, ENHOES DETO L7050, HOOCMN

6 BB (D), @58 e85 <
’ 2 18 - "
¥OR0B ? 806 0

(1) EISBE DS DS HSS 3%

(2) B3 GDFDI0 DAAHOS |+ Ao

(3) 8 DBPHOD GTFF0D R s

4y 35 S 3

iArrang?the‘fﬁl&?\ﬁii\iﬂfﬁ?aﬁ?&wm e @‘Q"mé et gladt o

[I} gg;gh thhOrities passed the ﬁo&?;ae&atllianwala ogh messRE T Chmn()og] o
] al Dyer ordered troops to open fire on unarmed protesters.

C. Mass protest meeting held . ‘
D. Martial law is imposged ?n :x:nt*]iat‘lginwala Bagh, Amritsar

E. Rabindranath Tagore : . )
Choose the correct angswerr‘:3nounces his Knighthood in protest.

(1) A; C: E’ Ba D (2) A, Cy B, D, E (g) C, A, B, E, D (4) C’ A’ D’ B’ E
2OOHSTO 27 SEFE0 K HOWOBODI B0 HOHESOD T3 TerD(ENOT 2955080 a0 :

A O8N QTR TOS SEr) 28 T,

B. DU OB SOSEITTR B35S BoHsB 816 DRI Fe0 )0 eBFOTD.

C. ©YSHB S5 10> 2OANS T 2f S FHFErE oSS J& D0 Y.

D. @8I0 S % S&ren ddoddE o, 7

E. Q85 BOOBL, SDOISTE THrE e 5B DBacy (Knighthood) & S580ET.

DB NATER0 DOTNTW

(1) A,C,E,B,D (2~ A,C,B,D,E ""(g) C,A,B,ED 4) C,ADBE

Arrange the following events in chronological order :

A. Indian National Congress passed ‘Purna Swaraj’ resolution.

B. Nehru Report was submitted at Lucknow Session of the All Party Conference.
C. Gandhi-Irwin Pact.

D. E.V. Ramaswamy Naicker left the Congress.

E. First Round Table Conference.

Choose the correct answer : -
(1) A,B,D,E,C 2 D,B,AE,C . (® ECDAB (4) D,A,B,C,E
1808 HONEIOD T3 FOESTOI IO D)3 A0S :

278 20D SO 'wF@ Do Somdy Bod.

A.

B ofy e 200S edo HE dSrHios T Rl 950080800,

C. ToB-30IS 2.)000. e

D. 2.9, TR A8 SOTRID SO VY.

E S0 B06 TanS OSrasaw. I

DB DTG0 DOTHTOW : o

(1) A,B,D,E,C 2 D,B,AEC "8 E,C,D,AB 4 D,AB,CE

Which of the following reformers was not among the founders of a religious association called

‘Rehnumai Mazadayasan Sabha’ ?
(1) Furdonji Naoroji
(3) Sayyid Ahmed Khan

806 BS80S S0 EeS
&2

1) HFQ To=

(3) HONSE OTNE TR

(2) Dadabhai Naoroji
(4) S.S.Bengalee

3358 BEOSHSTOD HBAATHS D25 ©F HS HOHF) FHOVS FOS

P Terod IR
@) 0. Bord

0pA0

(11)
®




36.

37.

38.

)
¢ correct

in Calcutta in 1879
: . was set up '
| Theatr¢

Which of the following statements Aﬂ\i'qtmnn .
A. The first public theatre named 7 ;n»u.«:inﬂ of indi 60)
B. Neeldarpan (1860) wae on the ”W‘ ’»\.r,.,v/r/”’/"m (186 .n
(. Michael Madhusudan Datta wrote et the hackgrou
D. Ananda Math (1882) was set up agat

in Bengal.
]“n’('rﬂ m
gop
d of the Sanyasi rebellion.

A, CandD (4) B,(_J;m(”)
& '

Choose the correct anewet 1C
(1) A, Band D (2) A, Bant :
d - 2 '7”‘z7”ﬁ,)~i’3r‘°,)
3o S0) oda) ? 3OS (0023
o) alda) )’ 3))@0))), ) . —
{ ' %%, r/;%/}’:)(;',u,{,

& £ ‘\I NOY
LK\‘\,\ r\vj DLeXeY o 1O . . Kare
L e ) AN 3 N
A, 1872 ¢S 50 %EeS' 1 H0DS 2redad & Kor3oe) e9fat)e)e

VA
- g 20
B, eS8 (1860) BomrS S DOSH0 ;
st 5¢5¢5)00 (1860)
C. ?l\gi\c‘:\ ::L‘\Lﬁ\‘f\lvtﬁrs (56:(? rOC’(:S(sA 7(\-‘( —foi)égo 6@ﬁ0&
EIOSDE ( 1882) ,‘(3;\1*!{;“\) €323 )W)

n.
VBR) DTG0 DO DS . 3) A, C 8050 D (4) B,C °“5’U’u,
1) A B $80%0 D @) ABSOONC 3 A

. : der : .
Arrange the following in chronological or General for the first time
A. Cornwallis assumes office as Governor

B. The Third An lo-Mysore War -
C. Battle ;f Khafda between the Nizam and the Mara

D. Ranjit Singh captures Lahore |
E. Vellore Mutiny

e the D N ABCDE 13 B,ACD,E 4) CBAg,
89 we &: W

808 e TOESrORIEOT @580 644 )

A 8T JneENGE FOM 15515 BSESHEY TV

k<t

B, Qurdhad @80ff’-Soairdd oswgo b1
C. QP08 HBAW HTTE a¢ds 28RS YT BNE0

D. &b & 50868 10A eIEMoHTHE &
E. 35 e&Meren

QOB OSTETI0 JOLDTISD - .
(1) C,A,B,D,E (2) AB,C,D,E (3) B,A,C, D, E (4)/ C,B,A LD

Which of the following statements are correct ?

A. Raja Rammohan Roy originally wrote ‘Gift to Monotheists’ in Persian language.
B. Raja Rammohap Roy believed that the ancient Hindy texts preached Monotheism.
C. Ishwar Chandra Vidyasagar foundeq the Widow Remarriage Association.

D. Founders of Paramahangg Mandali believed in Monotheism.

g

Choose the correct answer - |

(1) B, C and D only "2 AandCon]
(3) Cand D only ";"!(4) A,Band D only
(08 arsseres’ QB3N D ? . ?

A OF TOZRES ooy D5 ST %008 DTS’ D Tcser H00sr 2 (R,

& B,¢ 5008 b AT

@) €805y p SPSTH (2) A B3k ¢ S

(4) A, B 5005 D Se{esh

[

(12)



Match List I with List 1y .

s List I
= L[.‘
A. Tools . I Pz:i[ 1{
B. Colours . g rl\tmgg
¢. Indus m Deals
. Bearded man TV: z()st l;)(]](\()]i'}‘i(‘
Choose the correct answm.k_tom,m\
(1) A-IL; B-IIL; C-1v; pg
A-I; B-1II; C-II:

(sc))& e | m(ggj Iy (@) AL BT, CO1 DIV
& e e 11 v 1o B-IV; C-11; D-TII
Jot g @;‘gojémm: 4) A-I, B-1V; :

" X (A0
A QY L S A
C. Do '
I dees %@O&nﬁ © y

D. (GO SAN IV, S yorony 5%

DB DSTETS0 DOTHEOK0) -

(1) A-II; B-III; C-IV; D-I

(3) A-I; B-III; C-II; D-IV (2) AL B-I; C-II; D-IV
40. Match the following : (4y AT BIV; CIL DI

A. Samaharta L. C

- " ollector of
B. Sannidhata IL. Treasure: tand revegge

I()J. Ilzgizizsszlgizna g} Courts which decidedipersonal disputes
Cﬁoose E— answer. :COurts which decided upon matters related to individuals and the state
(1) A-I; B-II; C-IV; D-III

>l

‘(9 AL B-I; C-IV; D-III

(3) A-I; B-II; C-III; D-IV %—(2’1) A-II; B-I; C-III; D-IV
808 T3 BBHBTHI -

A G L 2500 39 Saren Tedsd

B. Q)5 II. S350 =

C. 580 IL 856 StiSen H8:;,00 ot Fen

D. S0LEDS IV. S5500% 80k Tmasd8 e iy D000t T 300FIED
B DATTRH0 DOTHS RO :
(1) A-I; B-II; C-IV; D-III (2) A-IT; B-I; C-Iv; D-IIL

(3) A-I; B-II; C-III; D-IV (4) A-II; B-I; C-III; D-IV

41. Consider the following statements :
A. Parantaka I took the title of Madurantaka and Maduraikonda.
B. Parantaka I defeated the combined armies of the Pandyas and the King of Sri Lanka in the Battle

of Vellur. . ;
C. Chola territorial expansion did not continue pnder Rajendra I, the son and successor of Raja Raja.
Which of the above stateme
(1) A and B only (2)
ol HBPO0THW
LA- gg‘?iﬁ)@ﬁ;@@ L3008 NVeJovw &3>Cﬁ>§_§f0€§ ©F DB STFOTN.
B Sexrd GndosS 286 4 5r0eEICR arOBs T°& 3008 OO &0 PRIPEOD L30T,
C. omos KO STEBS 2,50 o208 506 3¢ s ARG SANFONOH.
3 S OB/ DBIG/?
2RI DA T DIV O C &r@  (3) BHOAW CIred  (4) € S

1) A S0k BIrsd @ A
(13) A g‘%
Oya:

nts is/are correct ? g
Aand Conly (3 BandConly 4) Conly




42,

14,

|l

a Gupta, as mentioned in Pl‘aya
8

oted b Samudr
Match the following kings in South India defeats d by 45 W]
Prasasthi, with their kingdoms : A.
King K,ng(lnm B.
A. Mahendra 1. Kottura
B. Vishnugopa 1. Kosala C
C. Hasthi Verma 111, Kanchi D
D. Svamidutta V. Vengi I c
Choose the correct answer 2) AL, B-1V; ('i}”})rﬁ[ (
T B i Apemen :
< i s 413 - - ) (@] Ao o - it r))‘??n 3 2
OO (DI DGO DS DR, s8e TIESO =
BSISBDAD
JTax 0131’,(‘0
A ol 1. S&S
B. DO . SO
C. IR 38 . 809
D, e Iv. o
46.

2 A-IL B-1V; C-III; D-1

DB HSTES0 DOTHERS :
(4) A-L B-IV; C-1L; D-III

& A-II; B-III; C-IV; D-I

.IV: B-II; C-I; D-1II 5
wh’l)atthZilf fﬁiofving land types with their mealtll'l?g :
Land types Meaning t
A. Aprahata I. Desert £
B. Shadvala II. Fallow e
C. Sharkavati ITII. Fertile i
D. Urvara IV. Grassy Lt
V. Sandy &
Choose the correct answer :
@ A-I; B-V; C-1IV; D-III

(1) A-II; B-V; C-IV; D-I
(3) A-II; B-IV; C-V; D-III (4) A-V; B-II; C-IV; D-1

1808 e 57w, J°¢3 @GSN 23IETHM

Sseew @Jaiv
A DTS I @
B. Jd&5e I e
C. A0S . I 85050 i
D. &85 \J IV. AQS000 s ‘
V. 3088 §rdS ¢
(K;)Qi «;oloﬁ:];mso DO - 10
-I; B-V; C-IV; D-I A
(8) AL BIV; .V, DI & AL BV; CIv; DI
Which option of the followin . W A-V; B-II; C-IV; D-I .
leaders ? & Sequences indicates the correct chronological order of the relig®”
(1) Ramanuja — Chg; |
t - 4
(3) Ramanuja — Shaxlﬂ: :3; ah Shankara(:'harya (2) Shankaracharya — Ramanuja - Chaitany2
508 Earos o charya - Chaitanya (4) Shankaracharya — Chaitanya - Raman%?
1) TS - 3 0 B8 e OB FOEITRHIE0 BSVRAR a);a e
& o ~B0%s - Hosoreg HO
- 905omres - 34 Ry (2)  JoSormrds - oranes - BSOS
4) 3080 Trdg - Tehads - TPITa0 %%%
@ 4

{14\

47.
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Aga

45

46

41,

ich of the following stat,
A Sthavir?vada believeq ::: Nentg regard:
B garvastivadins vieweg the Conce di
in latent form. CONSitiyy

Sammitiyas Propagateq th
€ doct,

n %
% Buddhist sects are correct ?

» of N4
ents of : }N‘Wﬂnw
Phey
10me aa 1 3
venon as not wholly momentary but existing forever

C.
D. Sautrantikas maintaiy, q doctrin, ]
choose the correct a“Swer(.‘ that n”Wl:\)(] Soulleggneas
@ B and D only ' £e of gutgide world is only a feasible inference.
3 A B and C only

(2) A é’nd C only

7 OOV |8
@ BOS S sgerest 59 (4) AYB and D only

Vo é °
a BROTO V0D BFomR) sa,00 LI

B, BoNSAOO ermren e
©o &Esﬁaog)

, >
58 2e ;rﬁ”’fy".};

:DW’ ﬁvg r‘;" % a < v R,
T%Séon"r\)\), ﬁ)'))on"r\‘o g)or\.)fj"(\)@”r)))"/

358D DF 0T &
AN
p. 28 EPO0DE DAGH gg‘ﬁg?;%}&)woo 306 e
(15 NPT
P0G g ®d) e OB8Ien S5020.

2

98 DIFTTS0 DOTHFLSW :

(1) B 00050 D S{ebd ' o

3) A, B OOASW C S (2) A SO0 C S7(ehadd
4) A, B 0050 D Srlehod

Consider the following statements :
A. Level of planning and si '
co-related. Bigger sit Slze, of a settlement in Indus Valley Civilization is not strictly
B. The relativel 1 es weren't always better planned 7
s ively small site of i )
double in size. of Kalibangan shows higher level of planning than Lothal, which was
. .’M"l
Which of the above statements is/are correct ? L]
1) Both A and B ‘ 2
(1) : (2) Aonly (3) Bionly (4) Neither Anor B
1808 5O HBBO 0TS S
A D0 S'AH THBESS, .VLXJsv"@éo Frowd SO %%"ire) $B3FeTA8 DY HooRRT B
BT B SF(ES @D (DETITVIROI) ). &
B. D) BT 5925008 S (DETDE F°ow OB, BoBOSO DEBS S&S 33) W™ HoB&.

2 D JDAS TS DO/ IBIQ/D ? A
3) B SFS® @)

() ASHOOS»BBockr  (2) A NGRS
Which of the following statements regarding early Vedic culture are correct ?

A. Polygamy was practised, but polyandry was not.
little trace of the rigid restrictions typical of caste system.

B. In Rigveda, there is

C. Vig’ was a bigger socio-po 1 structure than ‘Grama’.

D. The foundation of socio-po gvedic society was village.
Choose the correct answer : ‘
(1) A and D only
(3) A, B and C only
SO F&E H0Dy 9B %0200 50

v < &30
A 250ardsesso OB, S 27028
OO HE 5020600 b

B. 23007 casmeS” HOS5 =
9 HAOTP a)cé&
C. y JONEN @-5& g‘jvoq))é-O"a?gOﬁ) °~)¢ y Ul
D. éciﬁéi?;éig % orr 2SSO0 we3 900708 YT T 20,
(‘2?_‘2 zfagwélc; g;z?;@é” : @) A SB0W B SHSDH
aso G 45 A,B,C B D
3) A, B 28050 C 7SS

X0, DS

A 835 B BOST S°)

litica
litical structure in Ri
N
(2) Acand B only
(4) @’,B’ Cand D
B arspsoS D PRI ?

&OTBO M.
& 8P T TP B,

(15)

[q]



t ?
in-Tughlaq are correc ‘
,ammad-Bin Tug ‘khuts’ and muqaddams}

ly
ul headmen, name
pout , village he |
; . . : qatements 4 g the
48.  Which of the fnllmvm;{fi:li')“(.‘, of reducing i
" iy 5 ottt ; -i-amir-1- ’ ; : .
A. He continued Khilji's j | diwan-i-a : sly during his reign.
' ! it -alle failed disastrously
ordinary cultivators. ment call Jact. but faile -
. separate depar srm 1M ‘gazz-i-sikandari’.
B. He created a separa long ter + called ‘gaze
: orms had a I¢ ~yard ¢
C. His agrarian reforms ’j,,anf"““"’ of ¥ -
v D etk n" | (2) BandConly
Choose the correct answer (4) A andD only
() A, B, Cand D 55 OBSD 2
ooy g Fipiod 20 40 B D8 604,

£ %o
HO2: $00 2 ArODCTEENTT 576 )
a8 - DE- W IE L HO0BOW ?5) €6 T BED 69§09

<oA% e S08
(TR ODE STE TS BT 7

93[;5) ;9“09308(6). e 2

A
% D) OB HOTBD, SV HS rerdes D&

OS-2-06-3-5 ©F HSS

B, . )5

C. ®@8d JgSarap vodsmen OF | -
DDOOL 5. 56" @3 5 (150 FODPD (HSTDL .

D. e mef-x-2%0 =

VDS IAPERI0 DOTERDD : (2) B S8Am C Sriessdh

) A, B, C 58am D 4 A B0 D S

(3) A, BB € SHSD
: ts:
#9. Consider the f"“.‘l’.v."fagds:z irzefzur markets at Delhi as part of market reforms.
. ; e a
g. glazddm 1iltn ‘; as under the control of 4 high officer called Shahna.
. ach mar.

v K 92
. is/are correct ?
Which of the above statements i &Y (2) A only

f
5 b AandB oy (4) Neither A nor B
(3) Bonly ey
($0d a5 H8650508 - 5

A 3rBy€5 500y S artom oS08 DY AOS renity LT R8 FD0TeSs
B. (8 55D365 651 6056 900 a&@:?eééoes‘ CANYAY

25 2852088 s 98/99 ABSE/D ?

(1A 805 B Bogsy @) ASre

(3) B 4) A S8a%n B Sodr 525

50.  Consider the foﬂowing statements

Nagananda’ s about the Jain prince Jimﬁtavahana.

Which of the above Statementg is/are correct ?
B iy

(1) Both A and : (2 A only
(3) Bon] :

only ¢ 4) N either A nor B
(508 arsarser, 9090055y, -

A' KP 5 9 -] )
B. 'viéiizjiiif%m& TS0 @0 ety TETOD EDOT.
. = Qr\v) &g,é,}ye‘g@n" JE %

2 AI 508 TSRO NIAYATY (65;6@/;;,& VODOQHON0A,

1V A 5605 5 Bocsy
©) BSwes3s, @ Adre

4) A 8a%y B B0 5o

(16)



V

51.

52.

@ (17)

U N

Match the following Constitut;
10nal

Amendment Act Amendment Acts with their respective objectives :
st o0t e
A. The 1% Amendment Act, 1951 ; (?b.lm.t/,m. | . .
. Settled certain boundary disputes between India
B. The gth Amendment Act, 1 and Pakistan
» R860 I, Acquiring and transferring certain territories
C. The 52nd Amendment Act, 1 between India and Bangladesh
a% ,1985 Il Goods and Services Tax
D. The 101¥* Amendment Act, 2 idi Z.ami i
,2016 IV. Securing the constitutinnal validity of Zamindari
abolition laws
Choose the correct answer : V. Political defections
(1) A-IV; B-I; C-V; D-1II o DIl
3) A-IL; B-II; C-IV; DI @ AL B;;V;C(;I’ g
(4) ATy B-IV; C-LL L
1800 DBuS) T2501 O )
5.3 5 869 THTOD €3 OF S 23¢h33 GV !
D33 IGO0 50 )
A Snd8 & o
o 9563 ;éém 5001951 L 2r0s, raarSe ol OO D050 H0TE0
. (Ov £ W30, 1960 I 278, 20TETe D S (DB TN, Yo
C. 525 DG O, 1985 L 580, De> H0)
D. 101 dS8€a WO, 2016 IV. 250008 Sdere Sep%d orasol D2e
V. o280 DHOTon0)eD
DB DIFGTA0 DOV
(1) A-Iv; B-I; C-V; D-III @ AL BIV; C-I; D-II
(3) AL BIIL C-IV; DI 4y A BIV; CIL D-III
Arrange the Constitutional Amendments related to théffollowing subjects in chronological order :
A. Reducing age of voting from 21 years to 18 years. ;»,}»
B. Women Reservation in Lok Sabha and State Legislg;tfive Assemblies
C. Ninth Schedule (4
D. EWS Reservation
E. Right to form Cooperative Societies

Choose the correct answer :
(1) A,C,D,E, B

(3) C,AE,D,B

& 800 8ODS DAODAW
A 5w 8oy SoHNY 21
B SEH, FOSIEOS DT 8228 52D
C. 935 nchrgen

D

@ D,B,C,AE
4) C,E,ADB

o2 TS Tersor Be58ea8 ¢ SerdES0e oD BOHOR !

ok 18 B0%e o0 S0y

. EWS 82308538 i
B D550 H0Lre Jo)e T80k &0
0B DEFEES0 DOTHT VW :
() A,C,D,E,B 2 D,B,C,AE

3r C,A,E,D,B 4 C,EAD,B

mNE



53.

54.

55.

56.

[o]

A

1992 is not applicable to which of the f‘)nowir‘{;
57.

ct,
rd Anu-ndmc'nﬂ A
achal Pradesh

The Constitution (Seventy thi
States of India’ " /\'run.
A. Nagaland h Sikkim
(. Meghalaya ‘
Choose the correct answer . 2 A nn!l((; ”nll};)

3 3, C and
(1) B and D only 4) A, B, o
. “onl o8O (BB s OHOE) 40, 1992 380wy, ,
(8} A, Band L oy Sy N TR T $§O00 ¢ 735
& (Sod @D cordeS 2rSedi3IFOS O & UL = B. «?—_‘)("))E‘J“(Z)‘S (220

D. 80

A. DTEroR

C. Dareav .

ESTOINENINGALNIG B0 2 A $58050 C G

(1) B 0005w D &Sr(edad (4 A B.C 458050 D

(3) A B 00 C S cedure for amendment of the Constitution of [, dia ¢
the e quential order of the steps : e

Wt

Arrange the following steps in , 2.t an
provisions that affect the Federal NTUCt“}r;hl(_‘n;ar]iament.
A. Initiation of the bill in either House Y t}; - half of the States.
B. Assent by State Legislatures of not 19_55 a

nt of total membership and majority of not less thap 95~

C. Assent by President.
Passage by each House by 50 perce

D.
members present and voting.
g};ozs%ﬂ)lf cl'c))rrect answe(rz.) AB,C,D 3 AD,B,C (4) AB,D.C
, G, B, a0 S T7esol 0568 AANSTO SEVD ZNIGBS N

180& BODI JdSrs IPB D (@
TAHO& .
S0 S 2 HBS’ o DV (DSFDLID).

A

B. &530 550 TUEre 7308 S0 S SBTT Y SO0,

C. T8 s3rdo. N

D. &250H 9850 SrITes 23 S0 JEhsen FeD &30 S P, IJnBo I3 oD 50 rac
Dzrbe3S’ esZwcso Fomd. N

B8 DIAPTS0 JOLEND :

(1) 4,6,B,D  ABCD™ (3 ADBC 4 AB,D,C

Which one of the following amendmentfﬁg the Indian Constitution had added explanations to Articl

3 of the Constitution ? L
d L
(1) 32°C Amendment (2) 21t Amendment (3) 18" Amendment (4) 39" Amendment

}ff’?;;"if é) 025001 S350 78¢5 T2SON NS (8580 3 SF DI TS ?
Dad8ED (2) 2165 3B @y 1855 d38¢a 4) 398 NIV

Identify from th ine i . .
y irom the following items which require ratification by State Legislatures for Constitution

Amendment to bring changes in it :
B. Chapter IV of Part V

A. Article 55
C. Chapter I of Part X]
Choose the correct answer : b Any Listin the eventh Schedule
14 Band C only @ B,Cand
B.Cand b | » Cand D only
' (4) CandD only
s 78

oS o
180ty - DYOF T3 ofazvgoﬁ AVNTO TSN T RFOII e3T5eIedn €990

A (D880 55 i
C. 2‘556 5 A
5 S XI ¢5°9) ScSe3 (1 &) Ok g g‘g&b V &S IV & @007 505060

. - : D ABTES S Q DT OO’

(1) A, B 580ty o |
|5y
(@ A, L
B, C 080y p (@ B,C560m D Sris
@ C 5600 D S %jﬁ
m' (S

{ 10



W G e S R LGRS

Vlllg The appointment of the Speci
(1) Prime Minister of Indig
2 Appointments COmmitt
(3 President of India °¢ of the
. gg?cl)girsoggv?f National (‘“"nmissi(m fi i iti
Paxe) > NN RTe) OO ID0gr K Sove or Minorities
(1 T8 (DTS 0|3 D SO8 (HeBgK a0 5% HOHINT D)
2 S$OTE QAT e ¥yes (ACC)
(3) TOS T(RAOS ’
(4) ©OIV0I"SE ST 22, EH5S 3550k
) b}
58. Consider the following objecti .
. SO & 1ves of the National Mission for Justice Delivery and Legal Reforms,
A. To study and recommend j . :
Courts nd increasing the;*gtrength of Judges in Supreme Court and certain High
g. ;:g::lscl;i access ang reducing delays and arrears in the system
. accountabili '
1 capailies ability through Structural change and by setting performance standards and
Which of the above are correct ?
(1) A and C only (2) A BandC
(3) A and B only 4) BandC only
v v (VA O F.
f«»lri)tiﬁo;cs 0;8;() aacico BONB ®0& d’S 85152, 2011 GBFOE H0DOHOD 808 T3 LSOO
" ch;)g os@é“ 63, é_r%‘@oes‘ SO HOP§D DOWVETAE ¢I3ANI0, DIPELD
. a’i JINTN BN DOTIB0, IO AN ed TN DO SROTIHO
C. S5SF A0YET® Srdd) O30 BITWTYSTR), DOFOBOD, AEITe FHYS (DITET O &K

peToInTate}
2 TIDOS” DD HOTOXD ? o~
(1) A SHBOD C IS 7 @ A, BSHBO™ C
(3) A SHBOM B S5 L (4) B SOBO® C Srehad

Which of the following statements are corre&tregarding these commissions ?
The National Commission for Scheduled Castes consists of a Chairman, a Vice Chairman and 3

al Officer ¢
e . L. o s 3 -
r for Linguistic Minorities in India is done by :

Cabinet, (ACC)

a7

59.
A.

members.
B. The National Commission for Scheduled Tribes was established by amending Article 338 of the

Indian Constitution.
The National Commission for Backward Classes consists of one Chairman, three Vice Chairmer

C.
and 5 members.
Choose the correct answer :
; (1) A and C only (2) A,BandC
é (3) A and B only @ BandConly
B TS PO D ?

85 806 EH$% Ho20H0N 80 .
A e Here oD EHHS a8 eI 28 GIDSHON SNPB HZH5OD EOR Hoenosd.
B, 256 Drasorio 338 & (DEGES 900D TSN Sfio 2B ENASH Do )en BT .
0 BEnds dakde Zach NS 288w S0P GRIZD HENB DRI &

NTeTAVeIA "
OB NS0 DOTHERD |
(1) A B C SFST L@ ABOBAwC
(4 BB C e

(3) A OO B Sr{ebad

[

(19)
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60.

61.

62.

\

. icle 21 by Supreme Court in its various j
hts are read in Article 2 y, P JudgementS?
1s a B. Right to go abroad '

Which of the following rig
D. Right to doctor’s assistance

A. Right to good health
C. Right to reputation

Choose the correct answer : (2) A,B,CandD

(1) Band C only (4) A and B only

<3>§B- ;Aand D ""‘Yﬁ o (355w 2] ¢ a1t DIOEBONDS Srden H2) 2
D(OF'P S DA 3D IOO (5O B.  dBreso I, irhy,

A QOD @5‘(’35 PN\ D. | QC&);«‘O BSOS o’J"§)/,

C. §8.5y P

v, i, ¢ m) : ¥

A3 DATETS0 DOTHTD 3 A B, C 506G D

(1) B 0805w € Sr(evad

3) B, C 8w D Sr(ebad .
g statements is correct about the Judicial Review in the context of the -
Py * Ingi,

4) A B B &bl

Which of the followin

Constitution ? ., * v
(1) The word ‘Judicial Review’ is mentioned in Article 134 of the Constitution of India_

(2) The scope of Judicial Review in India is narrOVs(?r than that of the USA.
(3) The power of judicial review lies with Supreme Court only.
(4) The Constitution defines the term Judicial Review as the power of the Supreme Court .
examine the actions of the government.
76 T2 500’ w7508 SQEH 9020800 808 rsmsereS HA OBIE ?
(1) 270 oz 500 (9566 134 &S° 50D SDE’ HBoD THIVE0H.
2) DO F0B) ar8STI0S” A HE HBS D0,
B) T5AH ONE ©BTE0 T30 D20 F&HSE éocﬁsi
% “ “ v . s
4) g‘gg)éigo ggo& DVE ©F Iy @@eﬁ;;s; VEIOD  H83D0sae QRO eoBwsn

Which of the following statements are correct r ; arding writs i ,
High Courts in India ? pg & Writs issued by the Supreme Court apg

A. The writ of Habeag Corpus can be issued agaiglét public authorities only.

B. The writ of Mandamug cannot be issued againsi; a private individual or body
C. The writ of Prohibition can be issye e
D. The writ of Certiorarj ig available g
Choose the correct answer -

(1) Band C only

(3) Aand D only

d only against Judicial and quasi-judicial authorities
gainst legislative bodies and private individuals.

(2) AandB only
(4) Cand D only

C. D45 o o a»&f@m B doHerso DISTIOMT 20Ty,
Do 208 Soes, é"?f’ﬁ 5‘59«0-&&210&'5@9@963@@ QS 23823008
N8 3esreres "y SPOK $583or VERE0 86 e0erens &oenosd,

9 4960 D gy, (2) | A0aH B S5
(4)-1 C 0808 D (e

(20)



63-

64

65.

66.

As per Article 164 of th

. . e ;
in which of the f(’uowing qlmhan Constityy;
(1) Arunachal Pradesh Stateg 9 ution, there shall be a Minister in-charge of Tribal Welfare,

and /
(3) Jharkhand, Madhyq pd Assam ‘ '
: radesh g, (2) Meghalaya, Mizoram and Nagaland

$ed T°2P§ON0 | :
o (‘5.)80‘51)5 vLOogém 164 19505, Qg:d (ml'ﬂlm (4) Kerala and Karnataka
D §Q0§ &éooavg NV N 30 g(‘)c-\ o) U"lo}“@_)), N2 1’#’):’; A a0 68 Gorré) ?
(3 P RS | 0TF 8%y a:&:p (2}  HHTer0n, HE 0 HHUN Trerol
The Constitution (One H (4) BEY HOG 5165
. ; undreqd .
ﬁx)’tlglret?c(;;tl’i(’e? Ind(;an Constitutiosrlg f"I‘h lfd Amendment) Act, 2019 amended which of the following
1 and 18 acilitate EWS reservation ?
3) Art(;cligslf and 16 @) Articles 13 and 14
tor~dyelple] € 8 59 4) Articles 19 and 20
. i €9 (3 s
&s §<3& 2 (DSBS mao,:)ogfe"’o' A EW%%&MQS HEEPAH0 EOJ0BERE Pt TEr0hoS D
1) Lt)éésaoo 17 H8aw 18 '
(@) (08880 15 O 16 ((:2) Lé)icgsao) 13 @gﬁ 14
4) | DBBe0 19 N 20

Match the following d '
g demands for Statehood/Sub.autonomy with their respective States :

Demand for Statehood/ Sub-a

A. Maru Pradesh utonomy State
e o L Rojuethan

: O agu . .
D. Bodoland HI\} I.é(hs}lla

. erala

Choose the correct answer : Y Karnataka
S AT B ohe o @) AL B-IV; CL; DI
e e e T 501) A-V; BAIL C-IV; DI

% 808 o*@@éé/ﬁgo&o-@@bé} BFOF O/ T H00OS TYETOS BSOS :
O QT Se3/e0,$OD0- (5353 e35°0& a0

A S0 03T L 3eryo
B. §do o 1L “aerS
C. Saib 0L © £,83r
D. &S&erod Iv. . 36¢
V. §c°3,¢o§
DB NITPETS0 DOTHTRW :
(1) A-IV; B-I; C-II; D-III (2) A-IIL B-IV; C-I; D-II
(3) A-IL; B-III; C-V; D-I 4) A-V; B-IL C-1v; D1

Consider the following statements in relation to the National Human Rights Commission :

A. It was established in 1995.
B. It was established under the statute of the {Pﬁotection of Human Rights Act (PHRA).
ith the Paris Principles, 1991.

C. It was established in conformity w1 2
Which of the above statements are correct ? ,
) A,BandC

(1) B and C only .
(3) A and B only @ b Saamdl Oiﬂy
TR J79S &0y EAS 50208000 & §d§5 ©OTOD (oot *

A 281995 S D070 TOHREOE. o
B. 28 Srd :svmz,‘)o 005 9 580 (PHRA) A0GIO RS0 2T )0 Bood.

C. 26 6D Sr@Ere, 1991 9N O™ D@Q&D‘@o&)aéo&.
= « V. )4
® a"gngc)c'i‘ D KBTI 7. (2 A, BB C

(1) B 8050 C Srighad

@ (21)



67.

69.

. ing Extremism Divigion (LWE) ¢ o
tions of the Left Wing ) fthe Mlnl&
; and funchior oo
What are the roles anc

din . ke ‘ | |
- ernment of In hat Left Wing Extremism (LWE) through S('h(fmeg of g
”“"“‘ ‘\"“'"‘\ . f Q'q“’-u to com I
{3 y 01« ‘ L

A\ Capacity building ¢

X b , 0 affected Stateg,
of Home Affairs orce in LWI

dan ]a . ) ‘
~and Air nitiatives to combat, I,Wg
B Deployment of Army rovernments for i SWE

o to State (
. Providing assistance fo St

(‘hnngp (])p correct answer . '; 4 (2) A, B and (/‘
(1) Aand C only - (4) Band C only
(3" A'and B only TS BT Dariio T Ben O ¢ S 7

SO (D268 1)), HaT DO\ S H’&ii‘:@“@ A050 2o FDE éL&’)aﬂéOé’) ®©85echc,
/ A . Q(' . ) . v,

A DY o@e § 7Y HHSO = PR VNERAL SR Yot 1634 )

B oos gi@m 08 ool ?’?S()'.éwfééém@s\) (s;;?oﬁs»a; 0BG,

C. TR0 SN0 edERERS T aldEdBIO S0 '

|
VBN DAFTTI0 DOTHERND :

|
‘ C

(3) A HBAW B sreded

Which of the following pairs are matched correctly in relation to insurgency groups apg

States ?

A.  Garo National Liberation Army -  Meghalaya

B.  Kamtapur Liberation Organisation M Assa‘m

C. Kanglei Yawol Kanna Lup ~ Manipur

D. People’s Liberation Army ‘—5\ Nagaland

Choose the correct answer : u

(1) B, C and D only 5 (2) A,BandC only

(3) A, B and D only ;“% 4) A,/B,CandD

G 800 AEs dsaren, e OaF o8 S020H0D Y BSN I[N ?

A 8 BASS QB8 S &8, - ::E{v ©0%H

B.  S3%8 O84S SPSEAS - o A

C. 500D oy ) end) = eyrb
D. 39600845 e8; - Treros

OB SSTEFS0 JotsofSosyy -

(1) B, C 5060 D &mesy @) A, B 500 € Sr(e6
3y A, B »8akn D BRI 4) A B,C 805D

The Centra] Armed Po

lice Forceg (CAPFs) ihg_}ude :
A. Assam Rifleg (AR) 2 B.  Border Security Force (BSF)
C. Centra] Indust

rial Security Force (CISF()U © D.

| Defence Security Guard (DSQ)
Which of the above are correct ? X

(1) A,Cand D only g{ (2) A BandC only

(3) A,Band D onlvy “Y (4 B,CandD only

S0e Arasues PO Seresest (CAPF ') 2y 230 -

é‘ :?L&%gjoczﬁé ¢ ; B. 85"(;5 VJES &0 (BSF)
' NS0 36 ) (Crsp DS) DETBE3 B (DSG)

D T5506S" 30 6@ 9 VOISE' D 838) 2663 m

(D) A, C B0 D S,

(27 A, B 5805 C Sr(¢3h
(3) A, B 08050 D S5, (4) B, C 5805 D Srgsh

try "

Nigg,,

he:r
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70-

7l

2.

3.

B e
which of the follow;, ‘
cOnstitution of India ?

A. They are absolute j, 5
B. They are Justiciable i

c. They are meant to DFor
p. They have been takey,

State
n‘l(}ntq -
S 1s/are - :
are correct with respect to Fundamental Rights in the
ature,
natll]‘e.
note Politia

Choose the correct angwer . e Irish ¢ S
(1) B and C only o e
(3) Bonly %
(2) A, C and D only
& FsDOS Py
8o S FANOIS) O°2°5050 (4), /A and C only

> ..
A © T RTISOMT JEHE Ty me B 580y 5% 68250800 DB/ HDS WOTN ?
B. @ J°5TIE0MT 50k a@@&a i .

D. ¢3Q 0OV T°25080 Kyod & AT OIS STHoHDABSD

HB DETEES0 DO s&f?’ ® 8000 8RR, -

(1) B 000 C Sr(evsh ' H

(3) B & 2 A, C 30050 D S

i C Sriedad
Consider the following statements - (4) A B €

A. Article 17 SR
5. s of violaion 8 A 1 et the sl o aenc b

Y e : e . o s . :
Which of the above statements is/are}(’::rfer;:ite individual, action 20 be iiated egaimeh oo
(1) Both A and B : o A onl

B onl 3A only

(8) Sony v (4)° “Neither A nor B
1808 T 5D HOZOOTHE - 2
A. ‘cvas",goﬁoeSG Q 17 & (HESE 0RTRSS0 SPE 820D,
B. o 558 @OWT T°2rs0f D858 17 & &R0 el B 508 HEH%0 2EHS0B.
2 T 5DOS AB/AD HOTZSR/) ? g1
(1y A 5805 B Bodkr @)1 1A SPSD
(3) B Sr@ (4). A B0 B DOGT 5%

Arrange the following fundamental rights in order of correct sequen
Constitution of India :

A. Right to Constitutional Remedies B. Right to Freedom of Religion
C. Right to Freedom D. Right to Equality

E. Cultural and Educational Rights

Choose the correct answer :
(1) AJE,C,D,B @) D,CE,BA 3) D,C,B,E,A 4) D,E,B,C,A

5 CemsOOES FOHDEHDEN 806 FrAE pO® BB SO 8006 @080
A O350l HOSFTO FEY B e D §Ry Ty
Y 5 &0y, D. C} 3(053“(6{95 80y

E. 2005988, $00m Dos T

0B DSFGRS0 JOTHES o
() AE,C,D,B @ D,CEBA o
Which of the following provisions of the Constitution of India envisages ‘Settlement of Taternational
(ll)s?glri?csl:%xgtratmn (2) Article 49(C)  (3) Article 51 (D) (4) Article 54 (B)

808 0 o8 Tarsoiod OEE00 WOSTHD DTTO HOALTRE HO5HASS HER?

BB ? S
' 9@C) (B ©Q8O51(D) 4) )
1) &% 52 (F) 2) Q35 Q8O 54 (B)

e

ce as they appear in the

o |
t
£

D,C,B,E, A 4) D,E,B,C A

AL

@ (23) “ad



74.

75.

76.

Chairman

Match the following :

Committee of Constituent Assembly _— L Jawaharlal .Nehru
A Advisory Committee on l“undnm(-nt,nl Rig [l Vallabhbhai Patel
. [11. B.R. Ambedkar

B.  Union Constitution Committee
C. Steering Commit{ee

D. Drafting Committee

E.  House Committee

Choose the correct answer :

(1) A-1V; B C-V; D-I; E-III

[V. Rajendra Prasad
V. B. Pattabhi Sitaramayya

“ (9) A-V: B-IV; C-II; D-ITI; E-I
(4) A-I, B-V; C-1V; D-III; E-II

(3) A-IL: B1; C-1v; D-IIT: E-V o}
(808 A 2368 HSSH - 1965550
T&0 D25 &S c@;é;ySeré o

L.

A O 8050 S EeS l !
B. Sos o500 Ee3 1. ;5925&5"01)82@?

C. FQur (Steering) EQ0e3 11l .;96.(;9? @»52;

D. &Sz (Drafting) $Q¢3 Iv. ol¢ L,}:

E. &% swes V. 8. 567D Heorsnods

OB dIrErS0 DOTVTW

(1) A-IV; B-II; C.v; D.I; E-IIT (2) A-V; B-IV; C-II; D-III; E-I
’ ’ ’ (4), A-I; B-V; C-IV; D-III; E-II

(3) A-II; B-I; C-IV; D-III; E-V ' ;
Which of the following is/are true about the writ of Mandamus ?

A. Tt is applicable only in the case of violation of fundamental 1:ight§. .
ainst the governmenﬁ*g:self and also against inferior courts and other judic

B. It is applicable ag.

bodies. o~ . s
C. Itis also to direct a government official bt to enforce a law which is unconstitutional.

D. Itis also to enforce the performance of axgtatutory duty in case an officer refuses to do so,
Choose the correct answer : It
&% (2) Aonly

(1) B,Cand D ‘
(3) A,B, C and D 7/ (4 ABandC

(808 S’ 510D B8E & H0220B0DS QBR 0T DO/ ?

A, [PADE 80080 DATSH0 IR TS 9O S8V,

B. 30 (H520&5d8 S58BL0mr S6008 8050 BHS Shen B RSS 75D QOPOKY 538842

80 580152206008,
C. 28 T7ar500 DHPTS 9EFA) aHen TAHIL S (298065 § 0O eSTINOA.

D. 28 3¢ HEDS A A8 805aE ATEB0DS OATOTT & DO AB5roTer ATV,

QB DSFETI0 JOTHEFDSW
(1) B, C &80 D @ ARSD
(3 A, B, C 8% D | | @ A BS6awC

Arrange the following cases related to?‘.Basic Structure Doctrine of Indian Constitution !

chronological order : i
A. Golaknath Case ' {'\)‘5 B. Minerva Mills Case
C. Keshvanand Bharti Cage +. D. Champakam Dorairajan Case

Choose the correct answer I’h

(1) C,B,A,D (2) AD,C,B ;. (3) D,AB,C (4) D,AC,B ,

&8 Trersolf NS dgros ROETVE" H020HOD (806 BI5AS TwO® FOESTHTE

©DB)0A : <

A FoSaE 3 . B 03075 Sy 8%

C. SIT08 2358 T D. Sod%o BoresS T

QB STETO0 DOHERHEy, -

I C,B,AD 2) AD,C,B (3) D,A,B,C (4 D,ACB %ﬁ
(24) -
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78.

A TSI S S R S R e

gider the followi

ConI dia chose P ;ng Statemen(y ;

In se Par lamentary N relation to making of the Constitution :

) Assessment of responsibil.it‘ ystem over p ¢ of the Constitution :
WhiCh of the above Stﬂtement;“-/ was
(1) Both A and B 8 1s/
@ Bonly 2) Aonl

O(S N 4 mity

&Yéé o‘;a;;% ATIETR VOVOROY) Boe (4) Neither A nor B
) &f;és ga?"i“” 3OS 8ot 2y o e
B. % SO 80® ares QDAY 6555 e O,
A S@O&l)é N ‘ o g 2
28 3SR I $IOS” DA/ e :36‘55;3; ©OZOM HOTEH0 20N08
(D A SOAW B Bockr e o

3) B @D }} 2) A S(eded
Y 4) A B0 B BOGY S

Consider the following statements .
in relatlbﬁ to the composition of the Constituent Assembly :

residential system.

more S
are preferred than the stability of Government.
€ correct 7 : ,

A. The Constituent Assembl :
y was constitut¢d under the scheme formulated by the Cabinet Mission

Plan.

B. Each province and pri
princely state were to be allotted seats in proportion to their respective

geographical areas.

C. Seats allocated t oy
o each British province were to be decided among the three principal

communities — Muslims, Sikhs and General

Which of the above statements is/ar

A B and C e correct. ? B A only

3) A ;n“dasB g\(;nly . E} (4) A and C only
ora3g0ts 928 5B 0 Q006H0N 8o 'aégaé’f%é VIO 25600t ©

A. ;gé’)gsé WAS (DETVE ErFoBORS HSED (H580 T250M DB DBIET .
B. B30 @) TaFeD, Qoya® TR BT €980 ([FBIRS

VA E (’,J .
288. iy 5388 He 3erowo

C. 15 DB FOS TFO TEFONOIHEDS D KTk (DT STBS-S0R0eN, DIVFED B3

BHE (HBOD HYROHOLNOHER BEFOoRIS0 2ON08.

2 29 5AS T5DIOS” D/ ey, ? »':Lj
(1) A, B8aw C @) A STSD

/
(3) A BN B e ¢hadd
79. Which of the following are

. (4) A NGO C S| eHa

the main features of the Government of India Act, 19357

A. Federation and Provincial Autonomy
B. Dyarchy at the Centre

C. Dyarchy in Provinces .
D. Distribution of legislative powers betwlm;

Choose the correct answer :

] the Centre and Provinces

é

i)

—

. (2) AandBonly

4

(1) A, B and C only

(3) A,B,Cand D o5 (4) A BandDonly

806 e3¢ 1935 270 1520 3605 @%6 oLeren O ?

A DETRS HOOW TFO 55090 (DBXL 1

B. 0|0 508 O .

C. oares I8 Fed 1 .

D. Fo|B30 0B ovare HBS FHTOHTT O Hoed

0B HIFERI0 OTHERED

(1) A, BS80» C RGN @) A SDBOW B Sr(ehad
(4) A BB D Sred

(3) A, B, C »0as» D

E4E
@ (25) El%ﬁ



the result of any compact or agr BexIe; betWeen StatQ
pe the 15 3

Slowi ,ments :
80.  Consider the following statemen 1o
Sl el Provinces of India in any senge Sove, .
A ; 35, were the ; 5 b s "
which can be broken. the Act of 19 '(“ vernment of India Act, 1935 has lai the basi”gh
i jer the the Gove : Ny
B. Neither before nor unc et
sore umtary,
states, all powers were 1
Indian Federalism.  corree )
(2): Aonly

3 18/ar
Which of the above statements i/a
(1) Both A and B

(3) Bonly o
\ ) 3 B304 =
36 @ofisgo ) Bor easr OaFed ArdUHS K04 D

(4). Neither A nor B

($0Q & sm500 HBFOOTHSW : s )
A rOS AUIrRONS DA TaF DG -
:{wgn 5039 BRow EIR0A. &) B0 T e 0527 @&, s,
‘ & md, S SHOCH 1P v O8O0 1935 278 Sl 4 2
B aroe Lbe%és lé@g lfgaé groos G, la,réé EAL ALY B; oy
OASTTO) & oL |
EPHEO )V [PSTOED §9)0D08.

D TS DA/ OB ? B A
(lJ) g iﬁg pooar (4) A B8O B Bosr 57
(3 (s
i /ing statements : |
o Eonl;:ilelrlf’};ilf;ife‘:tn insdaState Legislatures have the power to make any law with respect t, sty

matter not enumerated in the Concurrent Lisrt_ or State Ijist. ‘ .
B. State Legislature has the power to make law on any subject matter mentioned in the Concurrep;

List. ;g_:,ft‘f
Which of the above statements is/are correct ? -

(1) Both A and B (,22,65 A only

(3) B only (@i Neither A nor B

(808 535005 5690y - 13

A GG dE B og e TEIER. D DACHOS BT FEI0y Bk o
TOANTED 5eFey TODHSTD). <

w“? :
B 0@ 709808 6aind er e ®030 DS AT 3§ T2 >80y 08 908,
D TR0 DA/ SODSA/D ?
(1) A 8w B Body 2F A SreD
@) BIr& 4 A&80% BBodr s

82. Consider the following statementg :
g. The Parliament Possesses the power of extra-territoria] legislation.

A State can have the power to af, ide i
be claimed by e Legialates ect personsivgzi' Property outside itg borders and this power can

Which of the above statements jg/re correct? -
(1) Both A ang o

(3) B only (2) A only
508 >im500% 56900055, : (‘%ﬁs Neither A nor B
g. ga‘i?sioéd RS 538 FD wameg 630 Qﬁﬁb $08
oo 8% 8656, 5oy ReROCRy
D sy TR T e, &ngni%? Sy S0 5080 I8 wawo 508 Gomon 4
2 TR0 A/ 3@ - S0,
1) AS6atn B3 -
@ (W A 3605 B Bocsr g,

&
(26) 208



(‘oﬂSider the following Statemengy ;
P " The Presu'ient of Indig i Sin re) ation ¢ .
A The meaning of the Violatio: 'Mpeac 0 the impeachment of the President of India

. ed x i
’ ' The impeachment of the p of the M) on the ground of violation of the Constitution.

" nstitut; : . . p "
; hich of the above Statem(\llt:emd(‘n is a Yua _*"‘”h is explained in Article 61(2).
;) B and C only " ATe Corpaey Si-judicial procedure.
¢ pand C only

(3) Vi V. . (2) Aand B

Hed @dFo " , ind B only
Zyéi‘,gé‘gﬁ ﬁ@o&’»é&ézgoaoaoa Lgod & (4) A, Band C
A »ESED 61(5) QSG orese SN AN O] A SO u‘gyOt:DtZw :
B OTES0N S00508 o o0 ODIODOHHD ).
h yt%}&@ (FAL IO ODSA o Q0 DIBOSDASA, .

218 BHSOBS TVIOS 3 g 5 g? 595 ({80,

3) ADOAW C A5 (2) A 5B B Sr(ehad
Wthh of the fOllOWing are dis . (4) A, B 2B €
# Constitution ? cretionary’ powers given to the Governor of a State in the

A. Reservation of a bill for considerat
B. Recm'nm.endati.on for imposition ofllgrrle(;ﬁsgzt?resmem'
¢. Appointing Chief Secretary of the State s Rule in a State.
D. Seeking information from the Chjef Mln
Choose the correct answer : !
W A © gréd Dlonly ' (2) AandConly
g;;;gs&(;g 6};‘(’368 (ox~{elsle} Rk w% (4) A, BandD only
v 4TS by O Tlod (138 DY 7
A TR HBIOS §H0 ey Besdog 3};%)&51353%6 AVEETRTTED D ?
B o308 DRHB S 16 Bapsiy,
C. T30S DG 85307 (Chief Secretary] & DOOMHOSE).
D. FOR HBAN TR HOBOE VNGKTS T EPIHOB $08 HEFTE0 BLIOW TISW).

ster regarding administrative and legislative matters.

9B AIFETA0 JOTHTRDLW : 4
(L A, C 58050 D Sr(¢dd @) A0S C SPS
(3) B &0 C Sr(ebsd Y @) A, B 300 D SHSD
% Arrange the following developments related to Centre-State relations in chronological order :
A. Anandpur Sahib Resolution B. Rajamannar Committee '
C. West Bengal Memorandum D. Justice Punchhi Commission
Choose the correct answer :
(1) C,D,A,B (2) A,B,C,D 3) B,C,D,A @4 B,ACD
30|5-072 H0DOGTOE HODOGODS DOFTETO 63 TOLESTOVEOTP T YW WADOH :
A 83058 Ford STNO0 ' B oadebd S8
C. 93355 Borrs ST %0 57 D 20700 SIS
A3 N0 DOTHTDNW f
(1) C,D,A,B @ ABCD 3 B,CDA (4r B,A,C,D

commission/comrﬁittee recommended the establishment of an Inter-State
nstitution :
(2) Punchhi Commission

. Which of the following
Council under Article 263 of the Co

(1) Raj Committee . o )
® Sarkaria Commission o @ First Administrative Reforms Commission
506 armciey & &mpis S/ED0e3, 2rES Teson 269 6086 50> ©0SB TR OGOV Voyen BoIWESH
2?%’ ROAE a @ o EMRS
O-' V. V.
3 aiié%iigs W WESTOT Sotydme Hogho

o
@ (27) ‘@%‘E



lection Commission of India :

N T tha ing statements with respect to |
Consider the following —— detey, .
mlne

o The Election Commission of India after congent from the President, is em
A fho vmannvr in which the Lok Sabha seats are allotted to each State.

B. The Election Commission of India allots symbols to partjes.
Which of the above statements is/are correct ?

(1) Both A and B (2) A only
(3) Bonly (4) Neither A nor B

GBS DRSO DONMOK HODOBOD) & 8o TSI 205055 -

A OS INFO DONO T(RHB 90,8 B0°5% (58 o rD8
QPO @S0 DR B A, ¥

B. RO OI) Ok 2 D) ¥ Hoo Berondpes,

2 550" VDD SOToa/D 2 "

S8 025 Frren Beronom Derpe,

@ A 83w B Bogsy (2) ’;\ ALERN
(3) B (&3 (4) A 55805 B Bodr 529
88. District Judges are appointed by : <. f
(1) The Chief Justice of the High Court (2) The Governor under Article 226
(3) The President under Article 228 (4) The Governor under Article 233
2 3Gen H6 S QADDOSSE D -
(1) 3P (D67 gohesard QAL @) 588 226 (95°50 55635 DAHA ek

(3) (D¥&ed 228 H5°50 7RIS AAHA @) 19886 233 (H5°50 K551 6 QADDI

89.  Arrange the following committees on electoral reforms in India in chronological order

Fay

A. Dinesh Goswamj Committee B. | Vohra Committee

C. Tarkunde Committee D. {Sﬁndrajit Gupta Committee

Choose the correct answer : Te

(1) D, B, C A (2) B,C,A,D (3) «€,A,B,D (4 A, D,C,B
OSTHOS I S0 H00) e D020BOD &5 (8eid Eederssy SEROEDOMT 955 o -
A OFS F) 8063 B. ¥ §0e3

C. &$08 §20¢8 D. 1201538 2 83068

QB DSETFS0 AOTHEKS : <}

(1) D,B,C, A (2 B,C, AD 3) C, A B D 4 AD,C,B

90. Consider the following in relation to the Electronic Voting Machines (EVMs) in India :

Which of the above statements are correct ? L
(1) A, C and D only (2) 54, B and C only
(3) A,Band D only (4) /B,Cand D only

D TIPS DD HOTesD ? |
(1) A, C 080 D Sress (2 A, B 580 € sres
) A B0 D Sr(essh @ B, C 6% D siress

af (28)



92

93.

9,

.AB

sideI:Jthe fOl]OWing stat,
.Jeeva Stateme
' TilPe Suprelrlnle{egdy C““"‘ni(t{n“ :
. sourt, ee g
apers. b of Ingis p URRestq o

S TONoun e one of the above’ (NOTA) option in EVMs

The Supreme Court d a judgement on in EVMa.
of Indj nent on the NOTA option in EVMs and ballot

) the right to negative vot \d
;ch of the above i

con

a paﬂﬂ(xd
A the ;

. Sy Stat@lllent,s . Judgement hased on a Public Interest Litigation (P1L) on
1) (2) ' X
i 80D TRIOD Oy Amnd oy,

oy ' X 3)
AR ALSTAINIAY (BEVM) eyest 5
2OV, 23§ET By Hes
! - 2 ROS
o o D08 B0 OBANS (rr) e 005 Ak °
S iioS 9D 20gsny | STto B0t 2.8 8 Bend00 0 8030008
(1) A SO C ITS$D (2 T 2,63 678 2 2rded 0B 230 eI O
From the time elections g
quthorities :

A. Shall not announce any financ ki

B. Shall not lay foundation Stonec;a(}fgrar.lts in any form or promises thereof.

C. Shall not make any promise of COHK;ZOJeCt.S or'schemes of any kind.

D. Shall be permitted to make ad-hop g Or08ds:

Which of the above statements are ¢ appointments in Government on non-perm
(1) A, B and D only OELECE Y

3) A,B,Cand D , (2) A, BandC only

A DENS0E3 DBHE TOLY, 30208 Frpare LX)LéeSOz’bi‘cﬁ) ©OSEN :

B, (BP0 B NS08 ST 020800 Jer Hosed FADTD

C. B QT H0DOBODS AENS0E SFpaFed FOHT .

A, Band C (4) B and Conly

o~ ® <€
() 2)0850

@:9?_3 & e92)ay (None of the above)

A 0By
B L 4
e announca&g@ga% (3 A, B»BOHC (4 B SoB0% € 571350
ed by,.the Election Commission, Ministers and other

anent basis.

D. D50 TEYOS (FBIOLS ©&-5 s
2 e S 9D 50T ? QATHOTED SOHTETA8 DS FO.
(1) A, B 8050 D Sr(¢5e% @) A B 00 C &7
2 A, 15D
3) A, B,C0a»D @ B, C SH00M D TSN
mbers should be

In order to democratize the District Planning ‘€ommittee (DPC), how many me

slected from Panchayats at the District level and Municipalities ?
(4) 4/5 members

(1) 3/4 members (2) 1/3 members (3) 1/2 members
Ber | DTS £363 (DPC) Q (DT Se0DP0 BoHEF8 o HOH JensOD B @"oaaeS‘ HOTORBE
508, S0AVTEE HOG DI)E TONHOR HOENOE ?

(2) 1/3 S0k dghHsen  (3) 1/2 o Dedgen  (4) 45 S0 gD

D) 3/4 S0 SEFEN
Consider the following with regard to 7 4th Constitutional Amendment :
A, Ward Committees can be established in Municipalities with a population of 3 lakhs or more.

B. State Legislatures decide the composition of Ward Committees.

C. Metropolitan area shall consist of population 10 lakh or more.

D. Seats in Municipalities can also be filled by nomination.

Which of the above statements are correct? | |

(1) A,Band C () AandC @2 ﬁ%QgD (4) A,B,CandD
748 07233009 DIBEIB0 5020600 1500 90T O NONEI0 |

A 3 Oésos odESy Dy aarar SONS gﬁ»&g@’)eﬁ& 0 E0E80 8 Do7)ew TeHS .
B, ' o asen Agony

0 St Bl 0 SE) N8 BT EORAN0ENOS.

C. DS FOLS (oo 10 oL,
D. S0 rereded TS HPS TS

D TS DD SOV ? 4
. As,a;s e @ A 55800 C (3 B,C 08D @ A,B,C 0D
Of

o ST FVOD PO BERTOVININATNE

g 20 _ :
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95.

96.

97.

» correct ?
) i 0o statements are correct  of itution.
Which of the following ‘“mtnot initiate a bill for amendment o(fﬂthf:kC}()mstnfutl(;h oo H
. 2Sfale L(xgislﬂtufr;(‘ cla:mont can be held to Soivle'lid ook Rstmeen. dhe g ouses of th,
int session of Parli ST endment bill.
B. J0111}5 sessior ase n{'(‘,c)l)shtutlondl Am‘ t ired to introduce a hill for amend
Parliament in case f the President is not require , ndment o "
C. The previous sanction ot the . 6

Constitution. L ive
It is obligatory for the President to g

&

assent to a Constitutional Amendment bill whey, it
8

D. : ¢
presented by the Parliament.

Choose the correct answer : (2) A, BandC only

(1) B, C and D only (4) CandD only

(3) A, Cand D mel‘jléy 550 0 s

o4 (()8(6 . b v, V. V.
foc; g@?giﬁfgw DOV (HATBOT ©HSG0. TR TS H2580 Sk, o (
' 0‘33-.,50(‘3 5368 DVFH H02080D FEIAED &aH HSes DS (DBROBS V& 1AHS TGos,,

H0: 809D ).
VOIS ISrBF0 e 5o A H05:00 wphe” v v
C ;;Sog %)(;55@ e 5;)3% DPERE T aOFIN0BKY 9505558 95580 Teso,
D. 38306 o O™ H0DS T255015 358 DD o798 351906 BF050 Bewd DO GOENOA,

B.

OB DTG0 DOTHEISW : P
) B, C B8aw D Sr(ed 1i(2) A, B X08osw ¢ 353
(3) A, C 8 D (6 : (4) C 0805 D S
Consider the following statements : -
exercised in accordance with the advice of the

A. The executive powers of the President shall be

Council of Ministers.

B. The effect of the Constitution (44th
cases referred to by the Supreme Court, a refusal to act ag
Ministers can lead to impeachment of the President.

Which of the above statements is/are correct ?
(1) Both A and B (2) Aonly ! (3) B only (4) Neither A nor B

(808 550988 H89O0TSHSD | ”‘Z;
(B508O Do B Sr S 00 Sahrienhe.

A. OIS 858 55T AT 350
B. 1978 &5 2360 443 orersoll da3dea (H5°50, Mo 5% 50D 56 B0 $3), S00[@50%d

QAT earen HBS DGO, T RIS @DF0HS FHH2 AENJHOS.
Pt g B

R TROS AB/D HOTSA/D ? H
(1) ADOAWBBodkr (2) A ST “H3) B Sriessh 4 A8 B Bodr s
Match the following : \
Article Explanation A
A. Article 74 I Appointment of Pritne Minister
B. Article 75 II.  Council of Ministers to aid and advise President
C. Article 61 III.  Power of President to grant pardon
D. Article 72 IV. " Procedure for impeachment of President
Choose the correct answer :
(1) A-III; B-II; C-IV: D. (2) A-I; B-II; C-IIL; D-IV
(3) A-II; B-I; C-IV: D-III (4) A-IV; B-III; C-II; D-I
808 7 23858 HAw P
&PSS D359 -
A 80374 L 06 018 dardyio
B. Q3575 IL - 300820658 oo H5B8 Hersen $H6a50 SrdSen
C. e85 61 IL o9 QHe 37D eo@setso
D. 855 72 IV. oo Qo ©DFOIS NS
OB RAITTI0 DOTHE RIS -
. (2) AL B-IL C-II; D-IV

(1) A-III; B-II; C-IV; D-I
" =3

(30)



100.

Consider the following state
A Municipality must bo.(gi(vmp
_ No amendment of an e
expiry of the five year ter;
Which of the above statomom:.'
N poth A and B 2 Ao
y

808 BT RIS Z0JJ
é)egﬁ) 6@9&) &an@o&é ;);;)d&y'e)&x) ,()(_5(’15‘:)()1,/));)‘1

nts Wi
» ith regar : "
a reaso ‘;g,n(l to dissolution of Municipalities
aA80N¢ . "
y law which i (T le opportunity of being heard hefore it
S ! . " :
N force shall eause digaolution of a Municipality be

4 digsolution
fore the

correct, ?
(3) }; ] (4) Ne the A no B
N m&)?\)@vé)egg) é@ Sy only 1 r A nor

HOLNOA.
B. @00’ &) Q HETIE H

N

S0, , B @O D HOHed T HOD OO AR DD Sndi?eT
= SIS DO/ HOTOID ?
D A 835w B Bodsr (2) AJIrSD @) BarsD &)

‘ /. L s i
g 9§ﬂr)()”% PETS SN NS I L IR g

A0 A
;8 JDAVOE achden DI

.3/55‘ /"‘f

/D oW}

A 58050 B BOdT 5759

e functions of a Municipal C 2 edu
ci i
Th pal Corporation as laid down in the 1% th gechedule of the Constitution

include :
A. Slum improvement and upgradation

B. Roads and bridges

C. Urban poverty alleviation

D. Prevention of cruelty to animals
Which of the above are correct ? "

(1) A, B and D only (2) A B,CandD

(3) A, B and C only (4) A, C and D only
or2s5000 1285 TS & &0 HEDS (D550 2DDHS FIBAS DOV
A S0B8TED St HBD), €3 oW 0T3¢0
B. & SHBAM HSOBOL

C. 5 DHBE AETIO0

D. 206098 HE (Brdersd) ABB0IB0

2 FsOS D HOTSD ? .

(1) A, B 008050 D Sr(ebad @) AB,CHOXND

3) A, B 8050 C (& @) A.C&B0M D Ir(SD
Which of the following functions are provided to the g’énchayats under the Eleventh Schedule of the
Indian Constitution ?

A. Small scale industries, in
B. Libraries

C. Cattle pounds; prev
D. Technical Training
E. Animal husbandry,
Choose the correct answer

(1) A, B, D and E only (2) A,Band Conly

(3) C,D and E only (4) A,B,C,DandE

278 Toezrs0fio SR ST =35s8 (05700 HOTONBOZ TEFONOTIRVAN DEVEN AN ?
D) B HOFDED, e 5558 080 HOFED -

o asTen
DY TEFe;
FOEDE P& £9 SHOCHH 99 D
. 5N, TAOBFD SHBOW
B DETERS0 DOV - !

(1) A, B, D 56050 E 7SS (2) A/B BN C Sriehadh
3) C, D B0 E S 4. A,B,C,D 3050 E

|
] s

cluding food processing i}i:iustries

ention of cruelty to animals
and Vocational Education

dairying and poultry

20609 D& B3OS Q8Ed

¢SS
¢y DONTO

2 m T QW

@ (31) -
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101. In which year was the fi - siation Sri Krishnadevaraya Bhasha Nilayam establigh
the city Onyderabad ,? Irst literary association Sri § &q X

(1) 1903 (2) 1889 (3) 1901 (4) 1905
) Q0S8 15065 SO S %ﬁa«;}ﬁ:ﬂi"(ﬁ) 27T DEHXOH0 €93 3E) (rarehs HOMNO DTN BOoA ,
W 1403 (2) 1889 (3) 1901 (4 1905

102.  Which of the following Places is included in the UNESCO tentative list of world heritage Siteg ng
S Q Er
the Iconic Saree Weaving Clusters of India ?

(1) Narayenpet (2) Gadwal

(3) Pochampally (4) Siddipet

IO 5D DR b5 2 wmrire 806 awI, (UNESCO) T8, 508 (Hios Tig,
DBFees® Ha TE)2E08 ? |
D) >o*ahere 2 dorsd

@ SS50%O @) JFoL

103. Which of the following statements on J. ogini pfactice is/are correct ?
A. Most of the women who are labelled as J ogini belong to marginalized sections of society.

B. Besides parental poverty, other major causes for converting young girls into Joginis gy,

Superstition and religious beliefs.
C. The system was abolished in the year 1957.
Choose the correct answer :

(1) A and B only (2) Aonly
(3) B only (4) A,BandC

EA HPS HB0D 806 arsseres B/ QBIB/IBSD 2
A. EDIT S0(ESHABS ¢S eoesB%oen DS08R @ STe%H FoBSTD,
B. QShoh SR0enr &556)md8 é@édjréscn DEBLOE Few, Suech AN DB K

JFJT N QS (DTS SSegren. .
C. &IPS 1957 H0s5e5 15065 QA0SR

QB DTETS0 DOTDE RIS : -l
(1) A 08050 B Sm(es3h 1@ ASTSH
(3) B S5 (4) A, B8 C

104. ‘Bhagela system’ that prevailed in Telangana refers to :
(1) cheap or often compulsory free (unpaid) labour.

(2) share cropping in cultivation of crops.
(8) share paid to the artisan castes at the time of harvest of the crop.

(4) a type of exchange of money or goods in agrarian economy.
SOOMErS’ (HDOOMT ) 2SHer 9§9®" BAA KrdNOA :
(U T8 B S AB)0 &6 (Fo.
(2) H0&e> AHES’ PRy HE,
(3) 908 88 HHADOES’ T Syeher Koererdo 3O0F e, |
@ J55Rrah &85 35596 2.8 BEeS ) Bor SWJo 37638, g%g
d oy

Q (32)
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106.

107.

108.

109,

R ———

parshanam Mogulaiah, th ,

K Musical instrumth‘Kinn admg Shrj -
0 ne 1 "
3 Yakshagana era ! ‘h‘t, is known for revitalizing :
. (2)  Perini dance in Telangana
856538 o s, (56%60 3\)(&)@ (4)  Musical instrument-Dolu
- % O&Sv && VX
1) 8328-000S anesgo D HSBDOHTEDE Fh Sams 50
3 ADETS0 2) Beoomeard DO Hyd50
ho is the author of the b 4)  Een-Hohed a0
~ e ook “Th L™

e Fall :
(1) Keshav Rao Jadhav and Rige of Telangana” ?
(3) Vikram Chandra lg?) Kaloji Narayana Rao
. (4) Gautam Pingle

= & ?

(1) 34 TU°® 278
3) A VO

B o8 TN T
(4) ehed DOT

Which of the two distri
. ricts of Telangana were categorised as ‘Most Hungry districts by the Twelfth
Five-Year Plan of the Planning Commission ?

(1) Medak and Mahbupnagar ‘ (2) Khammam and Mahbubnagar

(3) Nalgonda and Mahbubnagar g(/ﬁ) Nalgonda and Khammam

DEF VS DO TS DT 0 HoTHSY Lbeg‘@éﬁé)svéo BOOTHS & B ZLTOD wd50d 93OS
963307 BT SQEOOTE ? &%,

(1) Toes§ SO0 Sosrere S B w0 50005 Direrd 1O

(3 SETOCs HBAW LGS Siid {H o 2B W0

Which of the following Sustainable Developrﬁént Goals (SDGs) of the UN focuses on reducing

inequalities within and among countries ?

(1) SDG 10 (2) SDG4
(3) SDG 6 (4) SDG11
Bgsoasg DS By &8 1806 2 ©DIP oFOS IO B350 DO BT NS OIIPISION
SNOBB0 D Gom DEH00 T T R
1) i DSHB O8O 10 @ nnc:gé DI 0850 4
@) DS DSB ©8.506 i e ©R st
QY 2, oK
. ostic Teghniques (Regulation and Prevention of Misuse) Act
thich Secftif)n of tht:1 iﬁ;iﬁi;?;:ﬁ;ing to pﬁ?natal determination of sex ?
(19)94 prohibits any 2 2 18 3 20 4) 24
1) 22 {
‘ Ko Dardea) 98O0, 1994 S 3 '
. . Heo B0 &0 $0® 08N, DO
©-FerS sofIE B85 (acf?é“o A5OR0E?
£ 250B00 5 ;
Dol BT DOVO4 3) 20 4 24
(1) 22 @r 18
Of

9] 2



111.

ﬁ

A. The Domestic Violence Act, 2005 guarantees justice to women who suffer domestic Vif}]enc‘:.

110. Which of the following statements is/are correct ?

B. The Act can be implemented properly if the awareness ahout the Act increases among Peoy)
. 0P,

the country.
Choose the correct answer :

(1) Both A and B
(2) A only

(3) Bonly

(4) Neither A nor B

808 & sp5065° DE/H ABIE/HB I ? y

A B9sTI0R0 940, 2005 Hys Sros HODY S FersH w5050 FAHmE F BWOE.
. BF 035 & 5802 eSmins BAS & 4P HESOM evsires TOHS.

B DSFTFS0 Do B0 |

) A DB B Body

(2) ASrS$DH

(3) B (e85

(4) A 8A% B Bodky SN

Which of the following statements with reference to the National Commission for Scheduled Tribes

(NCST) are correct ?
A. It was set up by amending Article 338 of the Constitution.

B. It was established through the 89tk Coggiéitution Amendment Act.
C. The Chairperson, Vice-Chairperson andgfhe other members of the NCST shall hold office for a

term of five years. #5%
D. At least one member of the Commission. should be a woman.

Choose the correct answer :
(1) B, C and D only
(2) A, B and C only
(3) A, B and D only
(4) A,B,CandD
TSP Blfe> 27 S0H EWAS (NCST) thBod) 808 52506 D 5B ?
A T2rs0foeS' esQ8S 338 D H5605¢50 TS0 A Jo°)yen S,
B. 2 8955 07er501§ 5860 360 o 507 0SB0,
C. NCST 3008 &gy 3638)8, 39 @5,35505 0BA BSS D2Hse DY Fero DD DOSS TN
GOLNOA.
D. $0A® 0ehseeS’ EAN0 2.8 2re domd).
DB SSTETB0 DOTHERI - "
(1) B, C 805 D S
(2) A, B8k C Sressh
(3) A, B 805 D &Sr(e83h
(@ A, B, C 0805 D

#
(O3

(34)
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114.

a person changes h
Whe 0 [ S his resid alled
ence i
or job without status change, such h 11
. a change is calle

LK
5 Ve rtical mobility
Honzontal mobility
whi ich of the above two is/are correct ?
) Bo oth A and B .
5 B only = (2) A only
. " (4) Nei
;;qg 515 Gy D0 B 4o SroTmE” ) DeitherAsior 5
'. (A éj‘éfé@@, @9&)):)063 ol)yé) )’J) '1)'»
N e SodBeeS +
5 89 £35S DOSFOS *
- aoéoeses‘ DOIDD 8y, ? <
1) A KB B [eleley @) A ST
3) B FUCES @) A B BTOGT 5

e following is the best example of a closed system of stratification ?

Which of th
L {1 (2) Castesystem

(1) Trade Union
9 ~ (4) Students Union

(3) Class

Grahntd QBEEES EF DS D L@esaﬁgfs) & 00 TES D0 &3 e ?
(1) 508 HONO f—:l @ %o 3599

3) SQ0 1; @ TR HOMO

Which of the following are part of ‘the four Goble truths’ in Buddhism ?

A. Sorrow
B. Source of sorT0 i nd desire

an be ended if desi
desire and sorT

overcome

ow i8S through ‘the tenfold path’

C. Sorrow ¢
D. The way to overcome
Choose the correct answer :

(2) Aand B only

(1) B,CandDonly ; (4) A, B, C and D

(3) A, B and C only
808 T3S D 23 ;5)590658 oy retd HOD C«‘?’g‘—‘"soe'is 20 ?
A 0O #

pas» 505 “,‘f

B. :grd8 snre0 g0 NS G
0. EBES BONR O s 900 o BONII |
e 50T SO
B DTG0 SO

0003 JQ0

) B, C 58050 D S| esaD 2) A SO B IFSD
) A, B 50050 C SHSD & A,B,C 0D
(35)
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oy rrect ?
115. Which of the following statements about shifting cultivation are co

A. Ttis called ‘Podu’ in Andhra Pradet sh.
B. Itis called Jhum among
C. Itis called Bewar in North Odisha.
D. It is called Bringal in Madhya Pradesh.
Choose the correct answer .
(1) A and B only
(3) B. C and D only

A0R ZOIASH DowO0HOD, & 1800 &

(2)
(4)

A @0 W3ETS O F® & 20T . o2}

B. @-9&35""1‘*5
a8 287 BIJ Db e e .

20655 (BFS BID (DS e e . ]

90 DITEBO JOTHE WA
(2)

the tribes of Arunachal Prade sh.

HTF S ABS Sifen A B @&Nﬁ)f&)@"é).

A, B and C only
A and C only

5256 DD PP ?

A, B 500050 C Srlebasd

(1) A SHBA B Sr(Sad
(3) B, C s80% D S (4) A B C S7 s
116. Match the following books and authors :
Book - Author
A. Who were the Shudras ? ' g(} I.  M.N. Srinivas
B. The Coming of the Devi : Adivasi Assertion in ?: II. Dr.B.R. Ambedkar
Western India ;sé
C. Caste, Class and Power : Changing Patterns offf III. David Hardiman
Stratification in a Tanjore Village ?3
IV. André Beteille

D. Religion and Society Among the Coorgs of SouthJ

India

Choose the correct answer :
(1) A-III; B-I; C-II; D-IV
(3) A-II; B-III; C-IV; D-I

(808 SIS ¢S Br50NSeI 2365 5 Yo :

33 (
A B0SE S TR ? !,{;»l
B. 8500 eD 3D b2 @VJS Aas BLQS(T z
Q0GOS l{j
C. 59, 50 @0k 536 : Fosof D) ) &9 +
(DB S ) S$0e796 D55 &
D 6023098 o o P8 @S0l & 508 ) e a’f"e? J
plela oV
OB DSTETE0 OTHEDS) *

(1) A-II; B-I; C-IL; D-IV

(3) A-II; B-IIL C-1V; D-I (4)

(36)

IL.

III.

(2) A-II; B-IV; C-III; D-I
(4) A-IV; B-II; C-I; D-III

Jdaved

0.8, AT (M.N. Srinivas)
@ .e5. 03,5

(Dr. B.R. Ambedkar)

BAG QS

(David Hardiman)

&0\A B¢ (André Beteille)

(2" A-IL; BIV; C-IIL; D-I
A-IV; B-II; C-I, D-III

Ol



- following statements is/are correct, ?
hich oer payabhaga system, sons inherit gy,

) ther’s ,
1 U”ger Mitakshara system, a son acquires th: :ip;‘;l)erty o e athors estt
B. U:; e correct answer : *Tight to ancestral property since birth.
(hoo* and B
n BOth]A | | (2) A only
5 BoP y o . (4) Neither A nor B
oS DO/ AVIE/D ? o

Lgoé stms (;/)V QSG & é - f

y 6o SISV DO BR SRSk 401 susmrsosso sogmios
5 3550 T80 HBI38 o0 S

g B s IS OGS 5800 e 2 80y SFocEch,

;\’)5(6 QQ}“O‘QO DOTRTA : &
| 4 8050 B Bockr M
1) A mbéﬁ) ‘ | (2) A Srlehad
3 B $35".L S0 (@) A B0 B Body 5
6. The fam}ly set up after one’s marriage is called as :
(1) Fam%ly of bﬂateral_ (2) Family of orientation
(3) Family of procreation (4) Family of unilateral
L FSS080 QOIT S0EN023V) DS Ve S:
L (1) Bsar&S S0eno0 O & BrRES) 2) Fd 6D L8O
3) HOTSSHIB 5e0020 (PO & EEHAS)  (4) ¥ D Hoewowo DO &9 crderBsd)
' 119. Who among the following is associated witf subaltern studies ?
(1) Yogendra Singh @) Ramachandra Guha
(3) Ranajit Guha o (4) Yogendra Yadav
51806 TOES' H2r@b) ©BANTOL H0BBEODS @§@ ?
° - (2) TWHOE BT
1 Roled dobh g
23; ?;'8 = e (@ avfod avss
. . ivals with thd tribes associated with them :
. lowing t bal festiva
120. Match the follo . Tribe
Tribal Festiva - ™
A. Sarhul II. Oraon
B. Bhagoria . IIL Ao
¥
C. Medaram Jath® Iv.I Fhil
atsu
IC)h Meothe correc ansﬁi = (2 AL B-I; C-IV; D-111
1 OZSI- p-1v; CTF b I+ @ AL BIV; CL DI
(1) i ; I 2E0DER NI B8 2SI YA,
(3) A-1L £ @) ; ,
ot P S0 L gob
il L 2,405
A. c\)@ &
A0S 1L &2 (Ao)
B. &0 50 &0 v, HS
C. sl 5
=3¢ Ov«pg"(f))oﬂ))
D. y ﬁ@v‘éo ")I [)—l“ 2 A Il; B | C-1v:
v O T b ‘ ’ s DI
poYel I BV’ oL p-111 4) AL By C ‘
@ A stV + ok b
? L (37)
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121, Cons; der th

122,

123.

Reason (R) .

Ssertion (A;3 ;fouowing two statements :

S(())((::ilzilgitor lili}g;f.ication refers to the institu Li(mnlizedf division of society into hierarchical} y ;’”Hngw t
.n('il}ring patterns of inequality founded upon. customary practices results in the hi‘:rar,.‘, !

division of society. ) TChicy |

Choose the correct answer : o

(1) (A) is false. but (R) is true. '

(2) (A) is true, but (R) is false. b

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

1808 Both g5 HBHB0TIOB : [

S)DSSe (A) :

DAr2E QO8G0 OO (ESTOASOT JT°)ED TOHAAS arsrRs Hourarerss Hhres
DBBIK AN,

5390 (R) :

VPORDETAD STTOR IBEIA RIS @18 D3 Hegehen (SamSoried Deszesso rBBF 0w,
DB DATETS0 DOTHE IS : -

(1) (A) ), 5 (R) &y, L

~ 3

(2) (A) 8Dy, S (R) ). =2
(3) (4) B0 (R) BOGR 8.5;, So80K (R), (A) TEY HBS DedSea.

(4) (A) SO (R) BO 8.0y, S (R), (A) Ty DFg DSBS 5°¢.
Which of the following statements is/are correct abput ‘Jati’ ?

R4 ’
O C S OO !
SRSV 2/ J.‘;ﬂ/ﬂl_l 14

A. Jatis are endogamous units. o5

B. Considerations of purity and pollution determifie the interaction between different units.
Choose the correct answer : »

(1) Both A and B (2) Aonly (3)-iB only (4) Neither A nor B
‘2 180D (808 F§DIOS’ DE/AD HDBIQ/DDSD ?

A, 278D D233 DT Daddrsriew.

)0 B&:

B. Db HOASN 90(¢8¢d (Purity and Pollution) G308y DOHIN DA DATEFS S5 HS

(ROGT*E Q) DGO AW,
PSTOINIPSIN Ll LN TO N TO IR VSN VNV I
(1) ANBAD BBOW>®  (2) A Sr(esdH (3) B S5 4 A BW B BoAr 5
Which of the following statements about M.N. Srinivas’s view on caste system are correct ?

A. M.N. Srinivas views caste as a segmentary syé‘t%m.
B. For M.N. Srinivas, hierarchy is the core or the'éssence of the caste system.

C. M.N. Srinivas did not find close relationship bli;,t;ween caste and occupation.
D. For M.N. Srinivas, caste is divided into sub-casfes.

Choose the correct answer : A
(1) A, B and C only (2) . A and B only
(3) B and C only (4)" A, B and D only

SOI5IP 2 0.IS. VTD @ ire HBOD & (80B 63 H3) ¥BSD 7
A Q) D008, D D068 IV 2TDOTT.

B. D08, 3R SgneS’ (SarcoiesFel oo FoOS$IPE Sre0,

C. D08 BT SeneS SoerdE, 5y B8 03§ SHB H0D0C0 .

D. 0.d8. BATD B9 0630 &HEoerenm DABOBDB0A.

QB DITETE0 DOTHEDISM :
(1) A, B 8 C S5 (2) A DBASH B SrievshH
(3) B HBA%w C &Sr(evsdH (4 A, B80S0 D Sr{ebsh

(38)
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124. Match the following Legislative Acts with the year in which they were enacted

125.

o ot o e

Legislative Act Year

g.' ’;P::: :;: ngal Sati Regulation I. 1976
ndu Widows Remarriage and Property Act Ir. 1870

ITI. 1989

C.  Female Inf: anticide Act

D. Equal Remune ratio
g n Act 4 :

Choose the correct answer - .
(1) A-TI; B-I: C-1V; D-I11

(2) A-TV: B-I1I1; C-II; D-1

(3) A-III: B-IV; C-I; D-I1

(4) A-IV; B-ITI; C-IIT; D-1

Nela)
& ::::;2 22.)5‘0& B ErFOBODS HoSes VB0 236855 1650

o )
¢ 7 053 )03

A BorsS H& QADOo($ea W&o L1 1976

B. > | .

O Dedoesy DB §T50 X080 &R SO II. 1870
C. (9% PO TENI o) III. 1989
D. 335 B8 50 Iv. 1829

ABS D3350 QOTDTAW :
(1) A-II; B-I; C-IV; D-III
(2) A-IV; B-III; C-II; D-I
(3) A-III; B-1IV; C-I; D-II
(4) A-IV; B-II; C-III; D-I

{33

Arrange the following Women Empowerment Schiémes in India in chronological order :
A. Launch of the National Rural Livelihood MlSSlOD (NRLM) with a focus on women’s self-help

groups.
B. Implementation of the Mahila Samakhya Prog;'amme to empower women through education and
awareness.
C. Establishment of Rashtriya Mahila Kosh (RMK) to provide microfinance support to women
entrepreneurs.
of the Pradhan Mantri Matru Vandana Yojana (PMMVY) providing financial

D. Initiation
assistance to pregnant women.

t answer :
Choose the correc (2) A C.B,D 4 D,AC,B

(3) C,A,D,B

(1) B,C,A,D : e
D s"oLémé)r:r O @S )0
%) 1808 T OGS DPSO
e 6313032: : LHEGHE HOJTOR DB ée)ogé? 2 EOH (P BISE WAS (NRLM) [Qr80250.
o)
, &; Z;cfﬁw IS T8 SO° Larde ;eréssvéé §‘r\>o L0279 DTS SPOFIZN0 WV
B. e
- & 0L FNEISOE mﬁgmw@ o $0° DFOHO ©OHOTOE RO e F'R
C. e L&)
(K a0 Xehe) SO Treed (PMMVY) r0o0.
D. K8)ever8d> &8 HIFANO e90B0TONE DSOS SS9 .
MBS S a)oiﬁbg&m : 3) C,AD, B 4) D,ACB
SINESIN A N]e) A C.BD y o
:l}B,C‘A,D (zj , Uy 2
(39) %
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126. Which of the following statements regarding SVAMITVA scheme is/are correct ?
A. This scheme is associated with the establishment of clear ownership of property in rural

inhabited areas.
B. By utilizing GIS maps, this programme supports the preparation of a better Gram Panchaya¢ |
|
|

Development Plan.

Choose the correct answer :
7 (2) Aonly

(1) Both A and B
(4) Neither A nor B

(3) Bonly
58 § (SVAMITVA) H5E0 H80D (806 S5O DE/DD HBSE/OBSD ?

A, S8 DSZO (P BT T (0TS @RS YRS OSFrzsrds AT S0BdHG GO,
B. 2000 (GIS) HEre> (maps) & GOAITAOIB0 7507 &8 2S5 500 DEDAS (T Horone wlh,0

(DETDED SO TADEOES® S8 )M,

OB DATETHO DOTHEFLDW :

(1) A DB B Bocsr P2 A ST

(3) B Sr(ed 5T (@) A SOCH B BOGT 5%

127. Which of the following statements related t&é&he provisions of the Transgender Persons (Protection

of Rights) Act, 2019 is/are correct ? 33’—

A. It defines a transgender person as one;%hose gender does not match the gender assigned at
birth. !

B. The Act mandates the establishment of separate Human Immunodeficiency Virus
sero-surveillance centres specifically for transgender persons.

C. Every establishment is required to designate a complaint officer to address grievances related to
violations of the Act.

Choose the correct answer :

(1) Both Band C ;, (2) Aonly

iy (4) A, BandC

(3) Both A and B
(€S )B0E ) Ss8ven (8030 BE.6) RO 2019 & 50200500 (808 5O AB/AD 2.9 ?

D356 BoE oS T HES) I 55°6§2§’an0&6 Bod & JOFOE 8 IO (&) Bord

A.
3580enm JY D0V, Y
B. & &0 (67S) Bond Ss¥ve &0 Lééggon" JVENS BINES” BAAOHAY IS DF-B 0N
B0l Jom)ew Tared esBFoN08. |
C. & S0 BInE) GOONSOE HOROBODS DTIRO® HONLO0BEIY (HB H0P 2.8 0RO
@558 DOHOILSOR GOLVOA.
QB DTETI0 DOTHE DI
(1) B X0B8a%w C Bochy (2) A Sredd
(3) A 805 B Bock @ A, BOOM C
" E4E
i

[a] i a0}



1
8, Arrang

Constitution *
A. National Commission for Higher Education and Research.

129.

owing C issi ; . )
o the foll g Commissions on Education in India in chronological order of thei
: > Lheir

B. Radhakrishnan Commission on University Education.
G Kotharj Commission-
;3- Universit,_v Grants Commission.

* Nationa] Knowledge Commission.

Ch
90S€ the correct answer : X
() A, B, ¢ p
D, E @ D,E,CBA

(3) B, p, C.E A
— ’ (4 C,D,B,E,A
A 3&i§§f§vé‘; LV§O<5V EEDASD ¢S DoeYEw eErOm (EArdiSorT 958 )08 :
B. ooy ;‘& v°-°5 A58 DekogEAS s0Basw G,
T i AS &5 ADrdS6 )¢S AeogENS.
SIS,
D. a5rQd58 3¢S (rroeSy s,
E. 3336 786 sdvas. a
OB DSTETS0 OTHEDSM :
(1) A,B,C,D,E
(3) B,D,C,E, A

2} D,E,C,B,A

@ C,D,B,E,A
(38

With reference to the Panchayats (Extension t({g‘?Scheduled Areas) (PESA) Act, 1996, which of the

following statements are correct ? ‘
A. It gives special powers to the Gram Sabhas iﬁécheduled Areas.

B. It was established after Bhuria Committee recommendations in 1995.
C. The Ministry of Panchayati Raj is the nodal ministry for the implementation of the pr

PESA in the States.
Choose the correct answer :
(1) A and C only (2) A and B only
(3) B and C only (4) A,BandC
A;) 5630, 1996 § H0OROD), &2 808 oS D

Somrahden (REFS (FroTOR SBAOY)) (PES:

ovisions of

QB ? o
A DErSQ st‘oa"ej 2 (s D% A0 (HB5E ©QET D FN0A.
B. 1995 ¢ 25808 $20¢3 DI 2,55 B EFEroB o .
C. oarS R (PESA) D2OPIO 9e0e03 LomToHS 0 HOBSS TR SHS HOoRSS FTRM™
G000, *
9B HEPEPS0 DOTERS
(B A 805D C Sr(dd 2 AOAWB Sr(5
C S7e .
%~

(41)
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130, The Nirbhaya Act 1s formal]

(’1) Prohibition of Child Ma
(2) Protection of C
(3) Criminal |
(4) Juvenile J

Y referred to a5 -

. rriage Act, 2006

hildren from Sexual Offences (POCS0)) Act, 2012
AW (Amendment ) Act, 2013

ustice (Care and Protection of Children) Act, 2000

o \ N ™
<5 béa A 2 0 ~n A M ™ ™ o

9 N \ e A\ o \ /.

VNS, T ‘o ol (‘:v ',,\". OS0T1 (N\(s r\\,’,: o4 ‘)) o

~ ek A M \
IO D WO, 2006

T D0A DO 8% 8 (POCSO) 560, 2012

6 & (3306) 380, 2013

Y BE £ OG5 B8 £9) L5820, 2000

131, The National Child Labour Project (NCLE) scheme was initiated in the year
(1) 1988 (2) 1981 (3) 1985 (4) 1998
2D reOTO ¥ (25 (NCLP) H350 & 0568 16065 (FB0D0SHA0E ?
(1 1988 (2) 1981 (3) 1985 (4) 1998

132. Arrange the following social legislations in chronological order of their enactment :

A. The Child Marriage Restraint Act

B. The Special Marriage Act ~
C. Hindu Women’s Right to Property Act.

D. Hindu Marriage Act :
Choose the correct answer : e
(1) C,D,B,A (2) A,B,C,D= 3) B,C,D,A 4) A,C,B,D
£08 FSr2s ST EFFOSSOD SPOESFHI SO 0508 |
ey DT ABNE B9E0o b
(DB Darar B3O
0T erder e T80y O
. OLT AT O
QB DITTTI0 DOTHEF DS :
(1) C,D,B, A (2) A,B,C,D 3) B,C,D,A 4 ACB,D
133. Which of the following statements is/are correct about the below mentioned social movements in
India ?
A. The Satya Shodak Samaj, founded by Jyotiba Phule, criticised the Hindu religion for creating
inequality in society. L

=

&

2
rod 2+
Cn

£ ;
.&W
on

o0
i

C

2/(

(@)

oW p

B. The Arya Samaj, founded by Dayanand Saraswati, removed the element of birth as the basis of

hierarchy.
Choose the correct answer : e
(1) Both A and B . (2 Aonly
(3) Bonly ) (4) Neither A nor B

2rESTH0S” AT Gssare HBOD & (808 5o’ DB/ QBIJ/DBIA ?
A Sy FB F0DS Jebs FBE 0TS, Fodr o R0 BIATIBOD HyRFosd

2e080D0E.
B. 65065 06058 FFR0DS 685 085S, (P8 ©F 0079 [K8rdss QSIS SOR0N0A.
DB S DATGTFO0 OTNT W
(1 A BN B Bk 2) A SSDH
(3) B Sr(e5sd 4) A B B Bodsy SN

EEE
a 42) &

-




134

135.

136.

ich Ofthe fOHOWing stat
. ¥ ementﬂ o D00

It was led by Sri Na 50N Sri Na .
. Itwasa backward C;‘:gs(r:gangun] Swlm\y',-“ymm Dharma Paripalana Movement are correct ?

"t was largely confined to Km‘]"]er:\ent..
p. It fought for the rights of 1} ataka only.
Choose the correct answer : navas,
(1) A, Cand D only ‘
3) A Band D Ovnly (2) A, Band Conly
§ oA BB DOJO &S50 6 (4) A,B,CandD
4 B8 3TTCWE D 800 1808 agmseres’ DD HBSD ?

| 203 5 TADES 50 S2rom s =

2 28 SSKee> & 5550 SO SJPOTE.

’ 4
M E f sggu! E§£§ ;E é.a) “. E: ;; f

50 BITTS0 JOHTSosko
(1) A, C 08a50 D Sr{evsH ' “J

(3) A, Bo8aAS» D gﬁytéa) (2) A, B&B»C Lrebaw

Which of the followi 4) A,B,C00»D

M ing statements on ethnicity, according to social constructionist approach, are

A. Ethnicity emphasiz
e es cult i
B Ethnicity is cultural, ural differences.

C. Ethnicity is economical.
. E . . . . . . ; ‘
D. Ethnicity as a social identity is both collective'and individual.

Choose the correct answer : e~
(1) A, B and D only (2) A, B and C only
@ A,B, CandD

(3) A, C and D only
Sr8E DT EITE DGO (D5°E0, 2SR &8 Lgodi%“gg})ge)@‘s A HJOD ?
A 28 0IYHBE SsEsrod 8y Se0e008. -

B. 27 @38 H0Iy 938 @0%0.

C. 2 03O B8PEDIO.
D. Ss8resorr SHdAN Frarersonr a8 i)"ér&?é’?ﬂi@ozg) &OLNOR.
3B DITETS0 DOTHTDIN 1
(1) A, B&8ai» D S| @ A, BB C NG
(3) A, C 6D NG 4) A,B,C0c»D
ts related to the Dalit Panthers Movement are correct ?

Which of the following statemen

A. It fought against caste discrimination.

B. It was founded by Namdeo Dhasal and J.V. Pawar.

C. Itwas inspired by the Black Panther Party. |

D. It was a radical departure from earlier Dalit movements as it emphasised on militancy and

revolutionary approach. .
(,2) A,Band C only

Choose the correct answer :
(1) B, C and D only
(3) A,Cand D only 4) g‘, ‘B, (zand D
59 055 EO5a00 K800 B 81800 T5sOS D DI ?
A 96 Ho IIEN 530801 SFoB00. . #
B oSHART 3O 28050 B.- Hab &&)&&) g"aqaj"é).
.o 5 @oéa&mgéaﬁo od.
g ;2 i‘sga:ﬁ %ﬁv’?é &S5 408 DO £)9) DSBS HohZoT Ad IO SHBAW
D S98208 TS 2D YOO:
Gy w DB
(3) A:coﬁbéoﬁDDéJ"Lé?ﬁ) » By D
(43) @ga
(] ¢



137,

138.

139.

140.

141.

142,

T

Which of the followmg Forest Conservation Movement was inspired by the Chipko Movement 5
(1) Save Silent Valley Movement (2) Bishnoi Movement
(4) Appiko Chalewali Movement

(3) Jungle Bachao Movement
1808 e3¢5° ) @erd) HOBE e s 50 DO, BHED0 DHOB DB LPOBOE ?
D) DS B0 a5 @esseno (2) DA Bchseno

(3) 200S &S’ &S0 @08 £37E3656) 8¢S 5s00

During the 1960s movement, the Bodos demanded for which separate state
(2) Arunachal

(4)

(1) Udayachal

(3) Bodochal (4) Purvanchal

1960 5330 &S 5e2 DADHOS® S Een & (DSB5E o?[gx"o 800 ASroB TFS ?
(1) SSArSS @) e&SS

) SIS (4) ooty

Which of the following statements on New Social Movements is/are correct ?
A. These movements are primarily concerned with social and cultural spheres.

B. In these movements, mobilization occurs in civil society.

Choose the correct answer :
(1) Both A and B (2) Aonly
(4) Neither A nor B

(3) Bonly
SrSS FSra3s e sire HO0D, &3 (808 T sPesS’ DB/ SBSE/D ?

A & &Sssren LX)Q%OW R)%ﬁraé DO K)‘p«jg,e)ééé 08 J020HO0DI.

n)&é QAPETI0 DOTHE DS :
(1) A SHBASw B Bodsr o w(2) A SH$D 7
(3) B3 i (4) A B0 B Bodr SV

Who was the founder of the Arya Mahila SamaJ ?
.(2) Pandita Ramabai Saraswati

(1) Swami Dayanand Saraswati

(3) Jyotirao Phule -7(4) Raja Ram Mohan Roy
855 0TF™ DS S59TDEIED DS ?
(1) 50 SOAETS0E DB 563

(3) EYBT°Y HS
In 2014, at the time of formation of the State,
the Backward Regions Grant Fund (BRGF) ?
(1) 8 (2) 6 3 7 4 9

2014 &S, 090 E)FTEE, BeromeneSD IA) BT IDE1AS o ADO D02~ (Backward

Regions Grant Fund — (BRGF)) H¢580 H86¢58 éx}j‘QQD ?
1) 8 2) 6 BT 4) 9

Which of the following concepts describes thE process of cultural mobility in the traditional social

structure in India ?

(1) Globalization

(3) Privatization

PESTIOS A FORDTFoH ST Jor

(2). HOGe Sdraron HBD 5
(4) T2 T IS T°0DH
how many districts in Telangana were covered under

(2) Liberalization
(4) Sanskritization

28905 R0y 9BE SerdTeres ENHOWNITTAREANIN S YO

I8N0 ?
1) (HI0DESe 2 OEVESe
3) |23¢388e0 (4) « D0y BESeD

#
Ll

(44)




143

144.

145.

N (45) %%‘%

_ Arrange the fOHOWing .
A gormagon oi The alit Pantp
B. Formaton of the .

. Establi§hment oflgla:g::l vI: :deration of Dait Wome .
p. Formation of the Bharatiya Brd and Mi’f"rit,y G men (NFDW),

Choose the correct answey ) auddhg Mahagal,

() D,G, B, A (2) \

£9 BSSITIE HoBOBON.S L% ® DA (4) A, D, B.C

i A A9 3‘0(}55‘3’ 330‘3633 5 N SOESTLISOm LUINV ISR Ys)
B. 398 IO 21AAH Dy

entg

Move 1
e »
rs’ ment, in ('hr()n()logical order :

Mmunities Employees Federation (BAMCEF).
a (Buddhist Society of India).

DS (NFDW) :’D;b‘?gtn

. S v, -
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Arrange the following socig] refo
A. Brahmo Samaj
B. Prarthana Samaj

C. Arya Samaj ]

D. Satnami Movement 0

Choose the correct answer :

(1) D,A,B,C (2) A/B,C,D _ﬁ 3) C,B,D,A i@ B0 BA
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() D,A, B, C (2) A,B,C,D (3) C,B,D,A 4 D,C,B,A
The main objectives of the Manya Sangam established by Bhagya Reddy Verma are :
A. To educate the untouchables.

B. To oppose child marriages. 1
C. To oppose Chanda Rail project. :
D. To oppose Devadasi and Jogin practicés.

Which of the above are correct ? L
(1) A, B and D only %2 (2) AandConly
(3) Band C only H (4) A, BandConly
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46. Which one of the following terms refers to the process by which certain groups are Wholly or
146. '

147.

148,
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denied from full participation in the social, economic, cultural and political life in a society 9 y
(1) Assimilation (2)  Social inclusion
(3) Social exclusion W Aesulturation
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(1) $OV*S%0 (Assimilation) (2) 5388 HNDS0 (Social inclusion)
(8) a8 @50 (Social exclusion) 4) |+ DBH0HY Y D s88ea (Acculturation)
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The Assistance to Persons with Disabilities for Purchase/Fitting of Aids/Appliances Scheme was i
operation by the Government of India since the yéar :

(1) 1995 2) 1979 (B 1981 (4) 2005
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(1) 1995 (2) 1979 (3) 1981 (4) 2005

Which of the following statements on Anti

-Hlﬁﬁan Trafficking Cell launched by the Nationg
Commission for Women are correct ?

(1) Band C only (i) . A and B only
(3) Aand C only ( )f_f A /BandC

ZSOH Se EMAS (FE0DONY S OS5 Barer 55838 oo (Anti-Human Trafficking Cell)

8o &spsos’ 2 2.y ?
A SIS SED B SO een I @@Siéﬁo@ OITETS DOB0 & &8 50
B. 28 Srda eo$ Sarery EFQ) @en T RDOTE), ©BFES: VOFOANOA

C. A8 IS @8 Savezrdo TOIAS O dde €0 9858 Do Doryen THod
QB d3rerdo DOTDE S o

(1) B 2801 C S5y @ ADBO B s
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Punjabi Suba Movement was a/an :

(1) Workers movement (2) Environmenta] movement
(3) Linguistic movement (4) Farmers movement
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(1) 56508 &350 (2 D858 ecdsno

(3) 27> &ch5e0 4] Bdve &350

Which of the following Gurudwaras is not a takhti(a seat of spiritual authority) of Sikhism ?
(1) Nankana Sahib (2" Keshgarh Sahib

(3) Damdama Sahih (4)‘ Hazoor Sahib
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